
COMPONENTS
ALWAYS THE BEST PRICES!

YOUR ONE SOURCE FOR AC FITTINGS & HOSE SINCE 1984

480-507-2229 | Toll Free 800-278-0788 | FAX 480-892-7474

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

908 East Impala Ave | Mesa, Arizona 85204

Air Components & Manufacturing, Inc

ORINGS | SEALING WASHERS | GASKET | VALVE CORES | CAPS



COMPONENTSCOMPONENTS

Contents

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

ALL KITS

233-3176 Smaller O-Ring Kit

233-3177 Medium O-Ring Kit

233-3178 Large O-Ring Kit

233-3179 Most Popular O-Ring Kit

Pg. 3-5

Pg. 6-8

Pg. 9-10

Pg. 11-13

SEALING WASHER

233-5075 Sealing Washer Assortment Startup Kit

233-3000 Sealing Washer Master Kit (48 Compartment) 

.....................................................................

..........................................................

Pg.14

Pg.15-17

GASKET

233-5024 Chrysler Metal Gasket Master Kit................................................................................ Pg.18-19

VALVE CORE & CAPS

233-6034 Valve Core & Cap Master Kit ....................................................................................... Pg.20-21

233-6030 Service Cap Assortment Master Kit ............................................................................ Pg.22

233-7010 Valve Core Assortment Master Kit .............................................................................. Pg.23

O-RING

........................................................................................................

.......................................................................................................

...........................................................................................................

..............................................................................................

233-3180 Air Tech Master O-Ring Kit,

                233-3176, 233-3177, 233-3178, 233-3179, 233-5024, 233-3170, 233-5075

233-3181 Master Sealing Washer, Gasket, Valve Core/Cap and 1234yf Cap & Core Kit,

                233-3000, 233-6034, 233-6101, 233-6030, 233-7010

Pg. 1

Pg. 2

............................................................................................

.....

233-6101 1234yf Service Caps & Valve Core Master Kit .......................................................... Pg.24-25

SPRING LOCK

233-3170 Springlock & O-Ring Kit (Chrysler/Ford 60 Pieces) .................................................. Pg.26



COMPONENTSCOMPONENTS

All Kits

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com
1

 233-3178
O-RING MASTER KIT
24 COMPARTMENT

(LARGER SIZES)

O-RING MASTER KIT
48 COMPARTMENT

(MEDIUM SIZES)

 233-3177233-3176
O-RING MASTER KIT
48 COMPARTMENT

(SMALLER SIZES)

233-3179
O-RING START UP KIT
48 COMPARTMENT

(MOST POPULAR SIZE)

SPRINGLOCK & O-RING KIT
CHRYSLER/FORD 60 PIECES

233-3170233-5024
CHRYSLER METAL GASKET

MASTER KIT

COMPONENTSCOMPONENTS

(INCLUDE KITS 233-3176, 233-3177, 233-3178, 233-3179)

233-3180
AIR TECH MASTER O-RING KIT

160 PART NUMBERS & 936 PIECES

233-5075
SEALING WASHER

ASSORTMENT
STARTUP KIT



VALVE CORE ASSORTMENT
MASTER KIT

SERVICE CAP
ASSORTMENT KIT

 233-7010233-6030

COMPONENTSCOMPONENTS

All Kits

COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

233-3000
SEALING WASHER

MASTER KIT
48 COMPARTMENT

233-6101
1234YF UNIVERSAL
SERVICE CAPS AND

VALVE CORE KIT

2

(INCLUDE KITS 233-3000, 233-6101, 233-6034, 1 EMPTY TRAY )

233-3181
MASTER SEALING WASHER, GASKET,

VALVE CORE/CAP AND 1234YF CAP & CORE KIT

233-6034
VALVE CORE

& CAP KIT

MISCELLANEOUS
ITEMS

(EMPTY BOX)



SMALLER SIZES (233-3176) COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING PAD MOUNT
5 MM

ID 0.197 (5MM)
OD 0.353 (8.97MM)

233-3014
O-RING ACURA/CHRY/

GM/HONDA/LEXUS/RO
ID 0.173 (4.39MM)
OD 0.283 (7.19MM)

233-3010 233-3011
O-RING 

CAPILLARY TUBE
ID 0.176 (4.47MM)
OD 0.316 (8.03MM)

233-3012
O-RING GM

OIL TUBE /FILL BOLT
ID 0.239 (6.07MM)
OD 0.379 (9.63MM)

233-3013
O-RING VIR LIQUID

BLEED LINE
ID 0.185 (4.7MM)

OD 0.297 (7.54MM)

O-RING THIN HOSE
6 MM BMW/MAZDA 

ID 0.239 (6.07MM)
OD 0.367 (9.32MM)

233-3015
O-RING  CAPTIVE

6 MM
ID 0.236 (5.99MM)
OD 0.394 (10MM)

233-3016
O-RING ORIFICE TUBE
ACU/CHRY/FORD/GM

ID 0.256  (6.5MM)
OD 0.378 (9.6MM)

233-3017
O-RING CAPTIVE

7 MM FORD COMBO VALVE
ID 0.267 (6.60MM)
OD 0.40 (10.16MM)

233-3020

O-RING TOYOTA
#5 HOSE FITTING

ID 0.276 (7MM)
OD 0.394 (10MM)

233-3023
O-RING STANDARD

#6 (3/8 ”)
ID 0.301 (7.65MM)
OD 0.441 (11.2MM)

233-3024
O-RING CAPTIVE

#6 (3/8 ”)
ID 0.262 (6.65MM)

OD 0.468 (11.89MM)

233-3022

O-RING PAD BLOCK MOUNT
5 MM

ID 0.26 (6.6MM)
OD 0.44 (11.18MM)

233-3028
O-RING CAPTIVE

7 MM ROVER/SAAB
ID 0.271 (7MM)

OD 0.45 (11.43MM)

233-3029
O-RING ORIFICE TUBE

FORD/CHRY
ID 0.301 (7.65MM)

OD 0.430 (10.91MM)

233-3027

O-RING CAPTIVE
6.5 MM GM/ACURA/HONDA

ID 0.252 (6.4MM)
OD 0.417 (10.41MM)

233-3021

O-RING ACU/FORD CV/GM/
HONDA/INF/JAG/LEX/MA

ID 0.266 (6.76MM)
OD 0.406 (10.31MM)

233-3025
O-RING CAPTIVE

#6 (3/8 ”)
ID 0.237 (6.02MM)

OD 0.445 (11.30MM)

233-3026

O-RING PRESSURE RELIEF
ACU/CHRY/FORD/HON

ID 0.315 (8MM)
OD 0.472 (12MM)

233-3030 233-3032
O-RING CAPTIVE

#6 (3/8 ”) BMW/GM
ID 0.276 (7MM)

OD 0.466 (11.84MM)

3



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

233-3040
O-RING

CAPTIVE 9 MM
ID 0.35 (8.89MM)

OD 0.506 (12.85MM)

O-RING CAPTIVE
#8 (1/2 ”)

ID 0.364 (9.25MM)
OD 0.554 (14.07MM)

233-3045

O-RING METRIC
8 MM AUDI/VW

ID 0.315 (8MM)
OD 0.455 (11.56MM)

233-3034
O-RING PRESSURE SWITCH

TOYOTA
ID 0.364 (9.25MM)

OD 0.504 (12.81MM)

233-3035

O-RING PAD BLOCK DRIER
10 MM

ID 0.375 (9.53MM)
OD 0.611 (15.52MM)

233-3052

233-3038
O-RING METRIC

9 MM THIN TOY/LEX/JAG
ID 0.351 (8.92MM)

OD 0.495 (12.58MM)

O-RING METRIC
9 MM AC/HONDA/JAG/SAAB

ID 0.341 (8.66MM)
OD 0.454 (11.66MM) 

233-3037

233-3039
O-RING R12

CHRY/FORD/GM/SAAB
ID 0.351 (8.92MM)

OD 0.495 (12.58MM)

O-RING SUCTION/DISCHARGE
GM OIL

ID 0.394 (10MM)
OD 0.591 (15MM)

233-3044

O-RING METRIC
10.5 MM GM/LEXUS/TOY

ID 0.417 (10.59MM)
OD 0.535 (13.59MM)

233-3048

O-RING STANDARD
#8 HOSE FITTING
ID 0.426 (10.82MM)
OD 0.566 (14.38MM)

233-3047

O-RING CAPTIVE
10 MM HYUND/ISU/JAG/SAAB

ID 0.386 (9.8MM)
OD 0.574 (14.58MM)

233-3049
O-RING CAPTIVE #8 (1/2 ”)

GM/MAZ/HYUN/SAAB
ID 0.394 (10MM)

OD 0.60 (15.24MM)

233-3050

O-RING METRIC
8 MM JAGUAR

ID 0.315 (8MM)
OD 0.441 (11.21MM)

233-3033

O-RING PAD BLOCK MOUNT
9 MM

ID 0.335 (8.51MM)
OD 0.571 (14.5MM)

233-3043

233-3041
O-RING METRIC

10 MM
ID 0.394 (10MM)
OD 0.472 (12MM)

O-RING CAPTIVE
#8 (1/2 ”) GM/MAZ/HYUN/SAAB

ID 0.414 (10.52MM)
OD 0.558 (14.17MM)

233-3046

O-RING HPRV VALVE
M10 GM/JAG

ID 0.331 (8.41MM)
OD 0.465 (11.81MM)

233-3036

SMALLER SIZES (233-3176)

O-RING ORIFICE
GM/PPOT

ID 0.433 (11MM)
OD 0.554 (14.2MM)

233-3053

O-RING CAPTIVE
#8 (1/2 ”) GM/BMW/OPEL

ID 0.362 (9.19MM)
OD 0.568 (14.43MM)

233-3042

4



O-RING CAPTIVE
11 MM SUBARU
ID 0.425 (10.8MM)

OD 0.615 (15.62MM)

233-3056
O-RING CAPTIVE 11 MM
HON/MAZ/LROVER/GM

ID 0.433 (11MM)
OD 0.622 (15.8MM)

233-3057
O-RING 

#8 ATCO FIAT
ID 0.472 (12MM)

OD 0.59 (14.99MM)

233-3065

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTS

O-RING LIQUID LINE
BMW/INF/NISS/OPEL/SAAB

ID 0.424 (10.77MM)
OD 0.630 (16.01MM)

233-3055

O-RING SPRINGLOCK #6 METRIC
CHRY/FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM)

233-3150
O-RING SPRINGLOCK

#8 METRIC FORD
ID 0.40 (10.12 MM)

OD 0.546 (13.87MM )

233-3155

O-RING DISCHGE DENSO
MANIF 10PA15C
ID 0.417 (10.59MM)
OD 0.605 (15.37MM)

233-3054

O-RING ACURA/CHRY/GM/HONDA/LEXUS/RO ID 0.173 (4.39MM) OD 0.283 (7.19MM)
O-RING VIR LIQUID BLEED LINE ID 0.185 (4.7MM) OD 0.297 (7.54MM)
O-RING CAPILLARY TUBE ID 0.176 (4.47MM) OD 0.316 (8.03MM)
O-RING GM OIL TUBE/FILL BOLT ID 0.239 (6.07MM) OD 0.379 (9.63MM)
O-RING PAD MOUNT (5 MM) ID 0.197 (5MM) OD 0.353 (8.97MM)
O-RING THIN HOSE (6 MM) BMW/MAZDA ID 0.239 (6.07MM) OD 0.367 (9.32MM)
O-RING CAPTIVE (6 MM) ID 0.236 (5.99MM) OD 0.394 (10MM)
O-RING ORIFICE TUBE ACU/CHRY/FORD/GM ID 0.256  (6.5MM) OD 0.378 (9.6MM)
O-RING CAPTIVE (7 MM) FORD COMBO VALVE ID 0.267 (6.60MM) OD 0.40 (10.16MM)
O-RING CAPTIVE (6.5 MM) GM/ACURA/HONDA ID 0.252 (6.4MM) OD 0.417 (10.41MM)
O-RING CAPTIVE #6 (3/8 ") ID 0.262 (6.65MM) OD 0.468 (11.89MM)
O-RING TOYOTA #5 HOSE FITTING ID 0.276 (7MM) OD 0.394 (10MM)
O-RING STANDARD #6 (3/8 ") ID 0.301 (7.65MM) OD 0.441 (11.2MM)
O-RING ACU/FORD CV/GM/HONDA/INF/JAG/LEX/MA ID 0.266 (6.76MM) OD 0.406 (10.31MM)
O-RING CAPTIVE #6 (3/8 ") ID 0.237 (6.02MM) OD 0.445 (11.30MM)
O-RING ORIFICE FORD/CHRY ID 0.301 (7.65MM) OD 0.430 (10.91MM)
O-RING PAD BLOCK MOUNT 5MM ID 0.26 (6.6MM) OD 0.44 (11.18MM)
O-RING CAPTIVE (7 MM) ROVER/SAAB ID 0.271 (7MM) OD 0.45 (11.43MM)
O-RING PRESSURE RELIEF ACU/CHRY/FORD/HON ID 0.315 (8MM) OD 0.472 (12MM)
O-RING CAPTIVE #6 (3/8 ”) BMW/GM ID 0.276 (7MM) OD 0.466 (11.84MM)
O-RING METRIC (8 MM) JAGUAR ID 0.315 (8MM) OD 0.441 (11.21MM)
O-RING METRIC (8 MM) AUDI/VW ID 0.315 (8MM) OD 0.455 (11.56MM)
O-RING PRESSURE SWITCH TOYOTA ID 0.364 (9.25MM) OD 0.504 (12.81MM)
O-RING HPRV VALVE M10 GM/JAG ID 0.331 (8.41MM) OD 0.465 (11.81MM)
O-RING METRIC (9 MM) AC/HONDA/JAG/SAAB ID 0.341 (8.66MM) OD 0.454 (11.66MM)
O-RING METRIC (9 MM) THIN TOY/LEX/JAG ID 0.351 (8.92MM) OD 0.495 (12.58MM)
O-RING R12 CHRY/FORD/GM/SAAB ID 0.351 (8.92MM) OD 0.495 (12.57MM)
O-RING CAPTIVE (9 MM) ID 0.35 (8.89MM) OD 0.506 (12.85MM)
O-RING METRIC (10 MM) ID 0.394 (10MM) OD 0.472 (12MM)
O-RING CAPTIVE #8 (1/2 ”) GM/BMW/OPEL ID 0.362 (9.19MM) OD 0.568 (14.43MM)
O-RING PAD BLOCK MOUNT (9 MM) ID 0.335 (8.51MM) OD 0.571 (14.5MM)
O-RING SUCTION/DISCHARGE GM OIL ID 0.394 (10MM) OD 0.591 (15MM)
O-RING CAPTIVE #8 (1/2 ”) ID 0.364 (9.25MM) OD 0.554 (14.07MM)
O-RING CAPTIVE #8 (1/2 ”) GM/MAZ/HYUN/SAAB ID 0.414 (10.52MM) OD 0.558 (14.17MM)
O-RING STANDARD #8 (1/2 ”) HOSE FITTING ID 0.426 (10.82MM) OD 0.566 (14.38MM)
O-RING METRIC (10.5 MM) GM/LEXUS/TOY ID 0.417 (10.59MM) OD 0.535 (13.59MM)
O-RING CAPTIVE (10 MM) HYUND/ISU/JAG/SAAB ID 0.386 (9.8MM) OD 0.574 (14.58MM)
O-RING CAPTIVE #8 (1/2 ”) GM/MAZ/HYUN/SAAB ID 0.394 (10MM) OD 0.60 (15.24MM)
O-RING PAD BLOCK DRIER (10 MM) ID 0.375 (9.53MM) OD 0.611 (15.52MM)
O-RING ORIFICE GM/PPOT ID 0.433 (11MM) OD 0.554 (14.2MM)
O-RING DISCHGE DENSO MANIF 10PA15C ID 0.417 (10.59MM) OD 0.605 (15.37MM)
O-RING  LIQUID LINE BMW/INF/NISS/OPEL/SAAB ID 0.424 (10.77MM) OD 0.630 (16.01MM)
O-RING CAPTIVE (11 MM) SUBARU ID 0.425 (10.8MM) OD 0.615 (15.62MM)
O-RING CAPTIVE (11 MM) HONDA/MAZDA/LROVER/GM ID 0.433 (11MM) OD 0.622 (15.8MM)
O-RING #8 ATCO FIAT ID 0.472 (12MM) OD 0.59 (14.99MM)
O-RING CAPTIVE #8 (1/2 ”) DUAL ID 0.394 (10MM) OD 0.552 (14.02MM)
O-RING SPRINGLOCK #6 METRIC CHRY/FORD/HYU/MAZ/JAG ID 0.291 (7.38MM) OD 0.433 (11MM) 
O-RING SPRINGLOCK #8 METRIC FORD ID 0.40 (10.12 MM) OD 0.546 (13.87MM )

233-3010
233-3011
233-3012
233-3013
233-3014
233-3015
233-3016
233-3017
233-3020
233-3021
233-3022
233-3023
233-3024
233-3025
233-3026
233-3027
233-3028
233-3029
233-3030
233-3032
233-3033
233-3034
233-3035
233-3036
233-3037
233-3038
233-3039
233-3040
233-3041
233-3042
233-3043
233-3044
233-3045
233-3046
233-3047
233-3048
233-3049
233-3050
233-3052
233-3053
233-3054
233-3055
233-3056
233-3057
233-3065
233-3145
233-3150
233-3155

10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK

SMALLER SIZES (233-3176)

O-Ring Master Kit 48 Compartment
(Smaller Sizes) 233-3176

O-RING CAPTIVE
#8 (1/2 ”) DUAL

ID 0.394 (10MM)
OD 0.552 (14.02MM)

233-3145

5

O-RING 
ACURA/CHRY/

GM/HON/LEXUS/RO

ID 0.173 (4.39MM)
OD 0.283 (7.19MM)

233-3010 233-3011
O-RING 

VIR LIQUID
BLEED LINE

ID 0.185 (4.7MM)
OD 0.297 (7.54MM)

233-3012 233-3014 233-3015 233-3013 233-3016 233-3017 233-3020 233-3021 233-3023 233-3025

233-3026 233-3028 233-3029 233-3027 233-3022 233-3024 233-3032 233-3033 233-3034 233-3030

233-3041233-3038 233-3045 233-3048

233-3047

233-3043233-3037 233-3035

233-3049 233-3052 233-3053

233-3039

233-3044 233-3054233-3046 233-3056 233-3057 233-3065233-3055

233-3150

233-3155

233-3050

233-3145233-3040

233-3036

233-3042

O-RING
CAPILLARY TUBE

ID 0.176 (4.47MM)
OD 0.316 (8.03MM)

O-RING
GM OIL

TUBE/FILL BOLT

ID 0.239 (6.07MM)
OD 0.379 (9.63MM)

O-RING PAD MOUNT
(5 MM)

ID 0.197 (5MM)
OD 0.353 (8.97MM)

O-RING THIN HOSE
(6 MM)

BMW/MAZDA

ID 0.239 (6.07MM)
OD 0.367 (9.32MM)

O-RING CAPTIVE
 (6 MM)

ID 0.236 (5.99MM)
OD 0.394 (10MM)

O-RING ORIFICE TUBE
ACU/CHRY/FORD

/GM

ID 0.256 (6.5MM)
OD 0.378 (9.6MM)

O-RING CAPTIVE
(7 MM)

FORD COMBO VALVE

ID 0.267 (6.60MM)
OD 0.40 (10.16MM)

O-RING CAPTIVE
(6.5 MM)

GM/ACURA/HONDA

ID 0.252 (6.4MM)
OD 0.417 (10.41MM)

O-RING CAPTIVE
#6 (3/8 )”

ID 0.262 (6.65MM)
OD 0.468 (11.89MM)

O-RING TOYOTA
#5 HOSE FITTING

ID 0.276 (7MM)
OD 0.394 (10MM)

O-RING STANDARD
#6 (3/8 )”

ID 0.301 (7.65MM)
OD 0.441 (11.2MM)

O-RING
ACU/FORD CV/GM/

HONDA/INF/JAG/LEX

ID 0.266 (6.76MM)
OD 0.406 (10.31MM)

O-RING CAPTIVE
#6 (3/8 )”

ID 0.237 (6.02MM)
OD 0.445 (11.30MM)

O-RING ORIFICE
FORD/CHRY

ID 0.301 (7.65MM)
OD 0.430 (10.91MM)

O-RING PAD BLOCK
MOUNT (5 MM)

ID 0.26 (6.6MM)
OD 0.44 (11.18MM)

O-RING CAPTIVE
(7 MM)

ROVER/SAAB

ID 0.271 (7MM)
OD 0.45 (11.43MM)

O-RING
PRESSURE RELIEF
ACU/CHRY/FORD

/HON
ID 0.315 (8MM)

OD 0.472 (12MM)

O-RING CAPTIVE
#6 (3/8 )”
BMW/GM

ID 0.276 (7MM)
OD 0.466 (11.84MM)

O-RING METRIC
(8 MM)
JAGUAR

ID 0.315 (8MM)
OD 0.441 (11.21MM)

O-RING METRIC
(8 MM)

AUDI/VW

ID 0.315 (8MM)
OD 0.455 (11.56MM)

O-RING
PRESSURE SWITCH

TOYOTA

ID 0.364 (9.25MM)
OD 0.504 (12.81MM)

O-RING HPRV
VALVE M10

GM/JAG

ID 0.331 (8.41MM)
OD 0.465 (11.81MM)

O-RING METRIC
(9 MM)

AC/HON/JAG/SAAB

ID 0.341 (8.66MM)
OD 0.454 (11.66MM)

O-RING METRIC
(9 MM) THIN
TOY/LEX/JA

 ID 0.351 (8.92MM)
OD 0.495 (12.58MM)

O-RING
R12 CHRY/FORD

/GM/SAAB

ID 0.351 (8.92MM)
OD 0.495 (12.57MM)

O-RING CAPTIVE
(9 MM)

ID 0.35 (8.89MM)
OD 0.506 (12.85MM)

O-RING METRIC
(10 MM)

ID 0.394 (10MM)
OD 0.472 (12MM)

O-RING CAPTIVE
#8 (1/2 )”

GM/BMW/OPEL

ID 0.362 (9.19MM)
OD 0.568 (14.43MM)

O-RING PAD BLOCK
MOUNT (9 MM)

ID 0.335 (8.51MM)
OD 0.571 (14.5MM)

O-RING
SUCTION/DISCHARGE

GM OIL

ID 0.394 (10MM)
OD 0.591 (15MM)

O-RING CAPTIVE
#8 (1/2 )”

ID 0.364 (9.25MM)
OD 0.554 (14.07MM)

O-RING CAPTIVE
#8 (1/2 )”

GM/MAZ/HYUN
/SAAB

ID 0.414 (10.52MM)
OD 0.558 (14.17MM)

O-RING STANDARD
#8 (1/2 )”

HOSE FITTING

ID 0.413 (10.82MM)
OD 0.566 (14.38MM)

O-RING METRIC
(10.5 MM)

GM/LEXUS/TOY

ID 0.417 (10.59MM)
OD 0.535 (13.59MM)

O-RING CAPTIVE
(10 MM)

HYUND/ISU/JAG
/SAAB

ID 0.386 (9.8MM)
OD 0.574 (14.58MM)

O-RING CAPTIVE
#8 (1/2 )”

GM/MAZ/HYUN
/SAAB

ID 0.394 (10MM)
OD 0.60 (15.24MM)

O-RING PAD BLOCK
DRIER (10 MM)

ID 0.375 (9.53MM)
OD 0.611 (15.52MM)

O-RING
ORIFICE GM/PPOT

ID 0.434 (11.03MM)
OD 0.575 (14.61MM)

O-RING
DISCHGE DENSO
MANIF 10PA15C

ID 0.417 (10.59MM)
OD 0.605 (15.37MM)

O-RING LIQUID LINE
BMW/INF/NISS

/OPEL/SAAB 

ID 0.424 (10.77MM)
OD 0.630 (16.01MM)

O-RING
CAPTIVE (11 MM)

SUBARU

ID 0.425 (10.8MM)
ID 0.615 (15.62MM)

O-RING CAPTIVE
(11 MM) HON/

MAZDA/LROVER/GM

ID 0.433 (11MM)
OD 0.622 (15.8MM)

O-RING
#8 ATCO FIAT

ID 0.472 (12MM)
OD 0.59 (14.99MM)

O-RING CAPTIVE
#8 (1/2 ) DUAL”

ID 0.394 (10MM)
OD 0.552 (14.02MM)

O-RING SPRINGLOCK
#6 METRIC CHRY/

FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM) 

O-RING SPRINGLOCK
#8 METRIC FORD

ID 0.40 (10.12 MM)
OD 0.546 (13.87MM )



COMPONENTSCOMPONENTSMEDIUM SIZES (233-3177)

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING PAD MOUNT
#10 OPEL/VAUX HALL

ID 0.421 (10.69MM)
OD 0.699 (17.75MM)

233-3060
O-RING COMPRESSION

#8
ID 0.489 (12.42MM)
OD 0.629 (15.98MM)

233-3059
O-RING DUAL 

#10 (5/8 ”) GM
ID 0.468 (11.89MM)
OD 0.624 (15.85MM)

233-3058

O-RING SENSOR
TV10CA/TV12C/TV14C

ID0.512 (13MM)
OD 0.67 (17.02MM)

233-3068

O-RING METRIC
13 MM HUND/SUZ/TOY

ID 0.528 (13.41MM)
OD 0.668 (16.97MM)

233-3069
O-RING CAPTIVE

(13 MM) CHRY/ISUZU/MAZDA
ID 0.507 (12.88MM)
OD 0.695 (17.65MM)

233-3072
O-RING PAD BLOCK

12.5 MM GM
ID 0.484 (12.29MM)
OD 0.762 (19.35MM)

233-3073
O-RING P-NUT

#10 (5/8 ”) FORD/MERC
ID 0.457 (11.61MM)
OD 0.653 (16.59MM)

233-3071

O-RING IMPORT
COMPRESSORS

ID 0.512 (13MM)
OD 0.63 (16MM)

233-3062
O-RING METRIC

13 MM FORD
ID 0.512 (13MM)

OD 0.638 (16.21MM)

233-3063
O-RING CAPTIVE

12.5 MM HYUND/SATURN
ID 0.492 (12.5MM)

OD 0.688 (17.48MM)

233-3064

O-RING METRIC
13 MM

ID 0.496 (12.6MM)
OD 0.636 (16.15MM)

233-3061

O-RING CAPTIVE #10
5/8 ” GM

ID 0.472 (11.99MM)
OD 0.668 (16.97MM)

233-3067

O-RING CAPTIVE 13 MM
DENSO SUCTN/MANIFOLD

ID 0.535 (13.59MM)
OD 0.723 (18.36MM)

233-3074
O-RING CAPTIVE

13.5 MM GM/HON/ACU
ID 0.531 (13.49MM)
OD 0.727 (18.47MM)

233-3075
O-RING METRIC

14 MM MERC/PORSCHE
ID 0.551 (14MM)
OD 0.709 (18MM)

233-3076
O-RING METRIC

14.5 MM
ID 0.575 (14.61MM)
OD 0.711 (18.06MM)

233-3077
O-RING CAPTIVE

14 MM BMW/CHRY/LROVER
ID 0.551 (14MM)

OD 0.747 (18.97MM)

233-3078

O-RING CAPTIVE
#10 (5/8 ”)

ID 0.487 (12.37MM)
OD 0.693 (17.6MM) 

233-3070

O-RING
DRIER CHRYSLER

ID 0.453 (11.51MM)
OD 0.633 (16.08MM)

233-3066

6



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING CAPTIVE
#12 (3/4 ”)

ID 0.549 (13.94MM)
OD 0.755 (19.18MM)

233-3090
O-RING METRIC

16 MM AUDI/VW/CHRYS
ID 0.648 (16.46MM)
OD 0.788 (20.02MM)

233-3091
O-RING CAPTIVE
16 MM SUZUKI

ID 0.63 (16MM)
OD 0.812 (20.62MM)

233-3092
O-RING METRIC

17 MM MAZ/MITSUBISHI
ID 0.673 (17.09MM)
OD 0.783 (19.89MM)

233-3093

O-RING METRIC
16 MM AUDI/VW

ID 0.634 (16.1MM)
OD 0.76 (19.3MM)

233-3086
O-RING METRIC

16 MM CHRY/MITSUBISHI
ID 0.63 (16MM)

OD 0.788 (20.02)

233-3087
O-RING CAPTIVE

14 MM GM/SATURN/VOLV
ID 0.546 (13.87MM)
OD 0.824 (20.93MM)

233-3084
O-RING CAPTIVE

15 MM SAAB
ID 0.591 (15MM)

OD 0.787 (19.99MM)

233-3085
O-RING STANDARD
#10 HOSE FITTING

ID 0.551 (14MM)
OD 0.698 (17.55MM)

233-3088

O-RING METRIC
16.5 MM

ID 0.644 (16.36MM)
OD 0.818 (20.78MM)

233-3094

O-RING DUAL #12
3/4 ” GM

ID 0.61 (15.49MM)
OD 0.768 (19.51MM)

233-3095
O-RING METRIC

16.5 MM
ID 0.634 (16.1MM)
OD 0.84 (21.34MM) 

233-3096
O-RING PAD MOUNT
15 MM DRIER OPEL

ID 0.609 (15.47MM)
OD 0.887 (22.53MM)

233-3097
O-RING CAPTIVE

17 MM AUDI/VW/CHRYS
ID 0.669 (17MM)

OD 0.859 (21.82MM)

233-3098

O-RING METRIC
15 MM MAZDA

ID 0.591 (15MM)
OD 0.709 (18MM)

233-3079
O-RING CAPTIVE

14 MM AUDI/VW/NISS
ID.563 (14.3MM)

OD .751 (19.08MM)

233-3080
O-RING CAPTIVE

14.5 MM GM/HON/ACU
ID.575 (14.61MM)

OD .763 (19.38MM)

233-3081
O-RING PAD MOUNT

14 MM AUDI/VW
ID 0.551 (14MM)
OD 0.787 (20MM)

233-3082
O-RING METRIC

15 MM JAG/NISS
ID 0.614 (15.6MM)

OD 0.754 (19.15MM)

233-3083

MEDIUM SIZES (233-3177)

O-RING DISCHARGE
SHAFT SEAL HEAD NISSAN

ID 0.563 (14.3MM)
OD 0.769 (19.53MM)

233-3099

7



O-RING SPRINGLOCK
#10 (5/8 ”) CHRY/FORD

ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

233-3160
O-RING SPRINGLOCK

#12 (3/4 ”) JEEP/CHRY
ID 0.617 (15.67MM)
OD 0.769 (19.53MM) 

233-3165

O-RING SUCTION
BEHR COMPRESSOR

ID 0.709 (18MM)
OD 0.867 (22.02MM)

233-3101
O-RING METRIC

18 MM ISUZU/VOLVO
ID 0.697 (17.7MM)

OD 0.887 (22.53MM)

233-3102
O-RING CAPTIVE

15 MM BMW/CHRY/FORD
ID 0.612 (15.54MM)
OD 0.818 (20.78MM)

233-3105
O-RING STANDARD
#12 (3/4 ”) TUBE-O

ID 0.676 (17.17)MM
OD 0.816 (20.73MM)

233-3103

COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING DRIER CHRYSLER ID 0.453 (11.51MM) OD 0.633 (16.08MM)
O-RING DUAL #10 (5/8 ”) GM ID 0.468 (11.89MM) OD 0.624 (15.85MM)
O-RING COMPRESSION #8 ID 0.489 (12.42MM) OD 0.629 (15.98MM)
O-RING PAD MOUNT #10 OPEL/VAUX HALL ID 0.421 (10.69MM) OD 0.699 (17.75MM)
O-RING METRIC (13 MM) ID 0.496 (12.6MM) OD 0.636 (16.15MM)
O-RING IMPORT COMPRESSORS ID 0.512 (13MM) OD 0.63(16MM)
O-RING METRIC (13 MM) FORD ID 0.512 (13MM) OD 0.638 (16.21MM)
O-RING CAPTIVE (12.5 MM) HYUND/SATURN ID 0.492 (12.5MM) OD 0.688 (17.48MM)
O-RING CAPTIVE #10 (5/8 ”) GM ID 0.472 (11.99MM) OD 0.668 (16.97MM)
O-RING SENSOR TV10CA/TV12C/TV14C ID0.512 (13MM) OD 0.67 (17.02MM)
O-RING METRIC (13 MM) HUND/SUZ/TOY ID 0.528 (13.41MM) OD 0.668 (16.97MM)
O-RING CAPTIVE #10 (5/8 ”) ID 0.487 (12.37MM) OD 0.693 (17.6MM) 
O-RING P-NUT #10 (5/8 ”)FORD/MERC ID 0.457 (11.61MM) OD 0.653 (16.59MM)
O-RING CAPTIVE (13 MM) CHRY/ISUZU/MAZDA ID 0.507 (12.88MM) OD 0.695 (17.65MM)
O-RING PAD BLOCK (12.5 MM) GM ID 0.484 (12.29MM) OD 0.762 (19.35MM)
O-RING CAPTIVE (13 MM) DENSO SUCTN/MANIFOLD ID 0.535 (13.59MM) OD 0.723 (18.36MM)
O-RING CAPTIVE (13.5 MM) GM/HONDA/ACURA ID 0.531 (13.49MM) OD 0.727 (18.47MM)
O-RING METRIC (14 MM) MERC/PORSCHE ID 0.551 (14MM) OD 0.709 (18MM)
O-RING METRIC (14.5 MM) ID 0.575 (14.61MM) OD 0.711 (18.06MM)
O-RING CAPTIVE (14 MM) BMW/CHRY/LROVER ID 0.551 (14MM) OD 0.747 (18.97MM)
O-RING METRIC (15 MM) MAZDA ID 0.591 (15MM) OD 0.709 (18MM)
O-RING CAPTIVE (14 MM) AUDI/VW/NISS ID 0.563 (14.3MM) OD 0.751 (19.08MM)
O-RING CAPTIVE (14.5 MM) GM/HONDA/ACURA ID 0.575 (14.61MM) OD 0.763 (19.38MM)
O-RING PAD MOUNT (14 MM) AUDI/VW ID 0.551 (14MM) OD 0.787 (20MM)
O-RING METRIC (15 MM) JAG/NISS ID 0.614 (15.6MM) OD 0.754 (19.15MM) 
O-RING CAPTIVE (14 MM) GM/SATURN/VOL ID 0.546 (13.87MM) OD 0.824 (20.93MM)
O-RING CAPTIVE (15 MM) SAAB ID 0.591 (15MM) OD 0.787 (19.99MM)
O-RING METRIC (16 MM) AUDI/VW ID 0.634 (16.1MM) OD 0.76 (19.3MM)
O-RING METRIC (16 MM) CHRY/MITSUB ID 0.63 (16MM) OD 0.788 (20.02MM)
O-RING STANDARD #10 HOSE FITTING ID 0.551 (14MM) OD 0.691 (17.55MM)
O-RING CAPTIVE #12 (3/4 ”) ID 0.549(13.94MM) OD 0.755 (19.18MM)
O-RING METRIC (16 MM)  AUDI/VW/CHRYS ID 0.648 (16.46MM) OD 0.788 (20.02MM)
O-RING CAPTIVE (16 MM)  SUZUKI ID 0.63 (16MM) OD 0.812 (20.62MM)
O-RING METRIC (17 MM)  MAZ/MITSU ID 0.673 (17.09MM) OD 0.783 (19.89MM)
O-RING METRIC (16.5 MM)  ID 0.644 (16.36MM) OD 0.818 (20.78MM)
O-RING DUAL #12 (3/4 ”)  GM ID 0.61 (15.49MM) OD 0.768 (19.51MM)
O-RING METRIC (16.5 MM) ID 0.634 (16.1MM) OD 0.84 (21.34MM)
O-RING PAD MOUNT (15 MM) DRIER OPEL ID 0.609 (15.47MM) OD 0.887 (22.53MM)
O-RING CAPTIVE (17 MM)  AUDI/VW/CHRYS ID 0.669 (17MM) OD 0.859 (21.82MM)
O-RING DISCHARGE SHAFT SEAL HEAD NISSAN ID 0.563 (14.3MM) OD 0.769 (19.53MM)
O-RING CAPTIVE (17 MM) BMW/GM/HON ID 0.674 (17.12MM) OD 0.88 (22.35MM) 
O-RING SUCTION BEHR COMPRESSOR ID 0.709 (18MM) OD 0.867 (22.02MM)
O-RING METRIC (18 MM) ISUZU/VOL ID 0.697 (17.7MM) OD 0.887 (22.53MM)
O-RING STANDARD  #12 (3/4 ”) TUBE-O ID 0.676 (17.17MM) OD 0.816 (20.73MM)
O-RING CAPTIVE (15 MM) BMW/CHRY/FORD  ID 0.612 (15.54MM) OD 0.818 (20.78MM)
O-RING CAPTIVE (17 MM)  BMW/PORSCHE ID 0.669 (17MM) OD 0.827 (21MM)
O-RING SPRINGLOCK #10 (5/8 ”) CHRY/FORD ID 0.509 (12.93MM) OD 0.656 (16.68MM)
O-RING SPRINGLOCK #12 (3/4 ”) JEEP/CHRYSLER ID 0.617 (15.67MM) OD 0.769 (19.53MM)

233-3066
233-3058
233-3059
233-3060
233-3061
233-3062
233-3063
233-3064
233-3067
233-3068
233-3069
233-3070
233-3071
233-3072
233-3073
233-3074
233-3075
233-3076
233-3077
233-3078
233-3079
233-3080
233-3081
233-3082
233-3083
233-3084
233-3085
233-3086
233-3087
233-3088
233-3090
233-3091
233-3092
233-3093
233-3094
233-3095
233-3096
233-3097
233-3098
233-3099
233-3100
233-3101
233-3102
233-3103
233-3105
233-3111
233-3160
233-3165

10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK

MEDIUM SIZES (233-3177)

O-Ring Master Kit 48 Compartment
(Medium Sizes) 233-3177

O-RING CAPTIVE
17 MM BMW/GM/HONDA

ID 0.674 (17.12MM)
OD 0.88 (22.35MM)

233-3100

O-RING CAPTIVE
17 MM BMW/PORSCHE

ID 0.669 (17MM)
OD 0.827 (21MM)

233-3111

8

O-RING PAD MOUNT
#10

OPEL/VAUX HALL

ID 0.421 (10.69MM)
OD 0.699 (17.75MM)

233-3060
O-RING 

COMPRESSION #8

ID 0.489 (12.42MM)
OD 0.629 (15.98MM)

233-3059
O-RING DUAL

#10 (5/8 ”)
GM

ID 0.468 (11.89MM)
OD 0.624 (15.85MM)

233-3058

O-RING SENSOR
TV10CA/TV12C

/TV14C

ID 0.512 (13MM)
OD 0.67 (17.02MM)

233-3068
O-RING METRIC

(13 MM)
HUND/SUZ/TOY

ID 0.528 (13.41MM)
OD 0.668 (16.97MM)

233-3069
O-RING CAPTIVE

(13 MM)
CHRY/ISUZU/MAZDA

ID 0.507 (12.88MM)
OD 0.695 (17.65MM)

233-3072
O-RING PAD BLOCK

(12.5 MM) GM

ID 0.484 (12.29MM)
OD 0.762 (19.35MM)

233-3073

O-RING P-NUT
#10 (5/8 ”)

FORD/MERC

ID 0.457 (11.61MM)
OD 0.653 (16.59MM)

233-3071
O-RING IMPORT
COMPRESSORS

ID 0.512 (13MM)
OD 0.63(16MM)

233-3062
O-RING METRIC
(13 MM) FORD

ID 0.512 (13MM)
OD 0.638 (16.21MM)

233-3063
O-RING CAPTIVE

(12.5 MM)
HYUND/SATURN

ID .492 (12.5MM)
OD .688 (17.48MM)

233-3064
O-RING METRIC

(13 MM)

ID 0.496 (12.6MM)
OD 0.636 (16.15MM)

233-3061
O-RING CAPTIVE #10

(5/8 ”) GM

ID 0.472 (11.99MM)
OD 0.668 (16.97MM)

233-3067

O-RING CAPTIVE
(13 MM) DENSO/

SUCTN/MANIFOLD

ID 0.535 (13.59MM)
OD 0.723 (18.36MM)

233-3074
O-RING CAPTIVE

(13.5 MM)
GM/HONDA/ACURA

ID 0.531 (13.49MM)
OD 0.727 (18.47MM)

233-3075
O-RING METRIC

(14 MM)
MERC/PORSCHE

ID 0.551 (14MM)
OD 0.709 (18MM)

233-3076
O-RING METRIC

(14.5 MM)

ID 0.575 (14.61MM)
OD 0.711 (18.06MM)

233-3077
O-RING CAPTIVE

(14 MM)
BMW/CHRY/LROVER

ID 0.551 (14MM)
OD 0.747 (18.97MM)

233-3078

O-RING CAPTIVE
#10 (5/8 ”) 

ID 0.487 (12.37MM)
OD 0.693 (17.6MM) 

233-3070

O-RING CAPTIVE
#12 (3/4 ”)

ID 0.549(13.94MM)
OD 0.755 (19.18MM)

233-3090

O-RING METRIC
(16 MM)

AUDI/VW/CHRYS

ID 0.648 (16.46MM)
OD 0.788 (20.02MM)

233-3091
O-RING CAPTIVE

(16 MM)
SUZUKI

ID 0.63 (16MM)
OD 0.812 (20.62MM)

233-3092
O-RING METRIC

(17 MM)
MAZDA/MITSUBISHI

ID 0.673 (17.09MM)
OD 0.783 (19.89MM)

233-3093

O-RING METRIC
(16 MM)
AUDI/VW

ID 0.634 (16.1MM)
OD 0.76 (19.3MM)

233-3086
O-RING METRIC

(16 MM)
CHRY/MITSUBISHI

ID 0.63 (16MM)
OD 0.788 (20.02)

233-3087
O-RING CAPTIVE

(14 MM)
GM/SATURN/VOLVO.

ID 0.546 (13.87MM)
OD 0.824 (20.93MM)

233-3084
O-RING CAPTIVE

(15 MM)
SAAB

ID 0.591 (15MM)
OD 0.787 (19.99)

233-3085

O-RING STANDARD
#10

HOSE FITTING

ID 0.551 (14MM)
OD 0.691 (17.55MM)

233-3088

O-RING METRIC
(16.5 MM)

ID 0.644 (16.36MM)
OD 0.818 (20.78MM)

233-3094

O-RING DUAL
#12 (3/4 ”) GM

ID 0.61 (15.49MM)
OD 0.768 (19.51MM)

233-3095

O-RING METRIC
(16.5 MM)

ID 0.634 (16.1MM)
OD 0.84 (21.34MM)

233-3096
O-RING PAD MOUNT

(15 MM)
DRIER OPEL

ID 0.609 (15.47MM)
OD 0.887 (22.53MM) 

233-3097
O-RING CAPTIVE

(17 MM)
AUDI/VW/CHRYS

ID 0.669 (17MM)
OD 0.859 (21.82MM)

233-3098

O-RING METRIC
(15 MM)
MAZDA

ID 0.591 (15MM)
OD 0.709 (18MM)

233-3079

O-RING  CAPTIVE
(14 MM)

AUDI/VW/NISS

ID 0.563 (14.3MM)
OD 0.751 (19.08MM)

233-3080
O-RING  PAD MOUNT

(14 MM)
AUDI/VW

ID 0.551 (14MM)
OD 0.787 (20MM)

233-3082
O-RING METRIC

(15 MM)
JAG/NISS

ID 0.614 (15.6MM)
OD 0.754 (19.15MM) 

233-3083

O-RING SPRINGLOCK
#10 (5/8 ”)
CHRY/FORD

ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

233-3160

O-RING 
CAPTIVE 17MM 
BMW/PORSCHE

ID 0.669 (17MM)
OD 0.827 (21MM)

233-3111
O-RING CAPTIVE

(17 MM)
BMW/GM/HONDA

ID 0.674 (17.12MM)
OD 0.88 (22.35MM)

233-3100
O-RING SUCTION

BEHR COMPRESSOR

ID 0.709 (18MM)
OD 0.867 (22.02MM)

233-3101
O-RING METRIC

(18 MM)
ISUZU/VOLVO

ID 0.697 (17.7MM)
OD 0.887 (22.53MM)

233-3102

O-RING CAPTIVE
(15 MM) 

BMW/CHRY/FORD

ID 0.612 (15.54MM)
OD 0.818 (20.78MM)

233-3105

O-RING STANDARD
#12 (3/4 ”) TUBE-O

ID 0.676 (17.17MM)
OD 0.816 (20.73MM)

233-3103

O-RING SPRINGLOCK
#12 (3/4 ”)

ID 0.617 (15.67MM)
OD 0.769 (19.53MM) 

233-3165

O-RING
DRIER CHRYSLER

ID 0.453 (11.51MM)
OD 0.633 (16.08MM)

233-3066

O-RING DISCHARGE
SHAFT SEAL HEAD

NISSAN

ID 0.563 (14.3MM)
OD 0.769 (19.53MM)

233-3099
O-RING CAPTIVE

(14.5 MM)
GM/HONDA/ACURA

ID 0.575 (14.61MM)
OD 0.763 (19.38MM)

233-3081



O-RING METRIC
24 MM AUDI/VW/SAAB

ID 0.945 (24MM)
OD 1.135 (28.83MM)

233-3133
O-RING VIR RECEIVER
EXP VALVE GM/BUICK

ID 1.00 (25.59MM)
OD 1.137 (28.90MM)

233-3134
O-RING CAPTIVE

23.5MM DENSO DRIER
ID 0.921 (23.39MM)
OD 1.199 (30.45MM)

233-3135
O-RING CAPTIVE

23.5 MM BMW/MERCURY
ID 0.924 (23.47MM)
OD 1.13 (28.7MM)

233-3132

COMPONENTSCOMPONENTS

O-RING A/C VALVES
22 MM FORD/CHRYS

ID 0.864 (21.95MM)
OD 1.004 (25.5MM)

233-3125
O-RING SUCTN/DISCH

DENSO CHRY/FORD/GM
ID 0.772 (19.61MM)
OD 0.958 (24.33MM)

233-3126

O-RING METRIC
20 MM ALFA ROMERO

ID 0.787 (20MM)
OD 0.945 (24MM)

233-3127
O-RING METRIC

20 MM HOSE AUDI/VW
ID 0.801 (20.35MM)
OD 0.941 (23.9MM)

233-3129
O-RING METRIC

22 MM SWITCH PORT
ID 0.866 (22MM)

OD 1.05 (26.82MM)

233-3130
O-RING SUCTION/DISCHARGE

PORT GM/HARRISON
ID 0.859 (21.82MM)
OD 1.137 (28.88MM)

233-3131

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING COMPRESSOR
SUCTN/DISCH FORD

ID 0.724 (18.39MM)
OD 0.93 (23.62MM)

233-3117
O-RING COMPRESSION

#12 ATCO
ID 0.739 (18.77MM)
OD 0.879 (22.33MM)

233-3120
O-RING METRIC

19 MM
ID 0.748 (19MM)

OD 0.944 (23.98MM)

233-3121

O-RING PAD MOUNT
SUCTN/DISCH FORD/GM

ID 0.796 (20.22MM)
OD 1.074 (27.28MM) 

233-3122
O-RING COMPRESSOR

SUCTION FORD
ID 0.799 (20.29MM)
OD 1.005 (25.53MM)

233-3123

O-RING SUCTN/DISCH
DENSO CHRY/HON/MAZ

ID 0.737 (18.72MM)
OD 0.943 (23.96MM)

233-3119

LARGER SIZES (233-3178)

9



COMPONENTSCOMPONENTS

O-RING 
GM/OPEL/VAXUALL

ID 1.051 (26.7MM)
OD 1.191 (30.25MM)

233-3136
O-RING METAL SHAFT SEAL 

507/508/510
ID 1.161 (29.49MM)
OD 1.319 (33.5MM) 

233-3137
O-RING

VIR POA VALVE
ID 1.30 (33.02MM)

OD 1.362 (34.59MM)

233-3138
O-RING 

SHAFT SEAL SEAT
ID 1.237 (31.42MM)
OD 1.435 (36.47MM)

233-3139

O-RING 
SHAFT SEAL HT6

ID 1.22 (31MM)
OD 1.464 (37.19MM)

233-3142
O-RING CAPTIVE

33 MM DENSO AUDI/VW
ID 1.296 (32.92MM)
OD 1.574 (39.98MM)

233-3143
O-RING CAPTIVE

36 MM DENSO HON/LEX/TOY
ID 1.428 (36.27MM)

OD 1.572 (39.93MM)

233-3144

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING 
SWITCH PORT GM

ID 0.850 (21.6MM)
OD 1.039 (26.4MM)

233-3140

O-RING COMPRESSOR SUCTN/DISCH FORD ID 0.724 (18.39MM) OD 0.93 (23.62MM)
O-RING SUCTN/DISCH DENSO CHRY/HON/MAZ ID 0.737 (18.72MM) OD 0.943 (23.96MM)
O-RING COMPRESSION #12 ATCO ID 0.739 (18.77MM) OD 0.879 (22.33MM)
O-RING METRIC (19 MM) ID 0.748 (19MM) OD 0.944 (23.98MM)
O-RING PAD MOUNT SUCTN/DISCH FORD/GM ID 0.796 (20.22MM) OD 1.074 (27.28MM) 
O-RING COMPRESSOR SUCTION FORD ID 0.799 (20.29MM) OD 1.005 (25.53MM)
O-RING A/C VALVES (22 MM) FORD/CHRYS ID 0.864 (21.95MM) OD 1.004 (25.5MM)
O-RING SUCTN/DISCH DENSO CHRY/FORD/GM  ID 0.772 (19.61MM) OD 0.958 (24.33MM)
O-RING METRIC (20 MM) ALFA ROMERO ID 0.787 (20MM) OD 0.945 (24MM)
O-RING METRIC (20 MM) HOSE AUDI/VW ID 0.801 (20.35MM) OD 0.941 (23.9MM)
O-RING METRIC (22 MM) SWITCH PORT ID 0.866 (22MM) OD 1.05 (26.82MM)
O-RING SUCTION/DISCHARGE PORT GM/HARRISON ID 0.859 (21.82MM) OD 1.137 (28.88MM)
O-RING CAPTIVE (23.5 MM) BMW/MERCURY ID 0.924 (23.47MM) OD 1.13 (28.7MM)
O-RING METRIC (24 MM) AUDI/VW/SAAB ID 0.945 (24MM) OD 1.135 (28.83MM)
O-RING VIR RECEIVER EXP VALVE GM/BUICK ID 1.00 (25.59MM) OD 1.137 (28.90MM)
O-RING CAPTIVE (23.5 MM) DENSO DRIER ID 0.921 (23.39MM) OD 1.199 (30.45MM)
O-RING GM/OPEL/VAXUALL ID 1.051 (26.7MM) OD 1.191 (30.25MM)
O-RING METAL SHAFT SEAL 507/508/510 ID 1.161 (29.49MM) OD 1.319 (33.5MM)  
O-RING  VIR POA VALVE ID 1.30 (33.02MM) OD 1.362 (34.59MM)
O-RING SHAFT SEAL SEAT ID 1.237 (31.42MM) OD 1.435 (36.47MM)
O-RING SWITCH PORT GM ID 0.850 (21.6MM) OD 1.039 (26.4MM)
O-RING SHAFT SEAL HT6 ID 1.22 (31MM) OD 1.464 (37.19MM)
O-RING CAPTIVE (33 MM) DENSO AUDI/VW ID 1.296 (32.92MM) OD 1.574 (39.98MM)
O-RING CAPTIVE (36 MM) DENSO HONDA/LEX/TOY ID 1.428 (36.27MM) OD 1.572 (39.93MM)

233-3117
233-3119
233-3120
233-3121
233-3122
233-3123
233-3125
233-3126
233-3127
233-3129
233-3130
233-3131
233-3132
233-3133
233-3134
233-3135
233-3136
233-3137
233-3138
233-3139
233-3140
233-3142
233-3143
233-3144

10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK

LARGER SIZES (233-3178)

O-Ring Master Kit 24 Compartment (Larger Sizes) 233-3178

10

O-RING A/C VALVES
(22 MM) FORD/CHRYS

ID 0.864 (21.95MM)
OD 1.004 (25.5MM)

O-RING SUCTN/DISCH
DENSO CHRY/FORD/GM

ID 0.772 (19.61MM)
OD 0.958 (24.33MM)

O-RING METRIC
(20 MM) ALFA ROMERO

ID 0.787 (20MM)
OD 0.945 (24MM)

O-RING METRIC
(20 MM) HOSE AUDI/VW

ID 0.801 (20.35MM)
OD 0.941 (23.9MM)

233-3129

O-RING METRIC
(22 MM) SWITCH PORT

ID 0.866 (22MM)
OD 1.05 (26.82MM)

O-RING SUCTION/DISCHARGE
PORT GM/HARRISON

ID 0.859 (21.82MM)
OD 1.137 (28.88MM)

233-3131

O-RING COMPRESSOR
SUCTN/DISCH FORD

ID 0.724 (18.39MM)
OD 0.93 (23.62MM)

O-RING COMPRESSION
#12 ATCO

ID 0.739 (18.77MM)
OD 0.879 (22.33MM)

O-RING METRIC
(19 MM)

ID 0.748 (19MM)
OD 0.944 (23.98MM)

O-RING PAD MOUNT
SUCTN/DISCH FORD/GM

ID 0.796 (20.22MM)
OD 1.074 (27.28MM) 

O-RING COMPRESSOR
SUCTION FORD

ID 0.799 (20.29MM)
OD 1.005 (25.53MM)

233-3123

O-RING METRIC
(24 MM) AUDI/VW/SAAB

ID 0.945 (24MM)
OD 1.135 (28.83MM)

233-3133

O-RING VIR RECEIVER
EXP VALVE GM/BUICK

ID 1.00 (25.59MM)
OD 1.137 (28.90MM)

233-3134

O-RING CAPTIVE
(23.5MM) DENSO DRIER

ID 0.921 (23.39MM)
OD 1.199 (30.45MM)

233-3135

O-RING CAPTIVE
(23.5 MM) BMW/MERCURY

ID 0.924 (23.47MM)
OD 1.13 (28.7MM)

233-3132

O-RING SUCTN/DISCH
DENSO CHRY/HON/MAZ

ID 0.737 (18.72MM)
OD 0.943 (23.96MM)

O-RING
GM/OPEL/VAXUALL

ID 1.051 (26.7MM)
OD 1.191 (30.25MM)

233-3136

O-RING METAL SHAFT
SEAL 507/508/510

ID 1.161 (29.49MM)
OD 1.319 (33.5MM) 

233-3137
O-RING

VIR POA VALVE

ID 1.30 (33.02MM)
OD 1.362 (34.59MM)

233-3138
O-RING

SHAFT SEAL SEAT

ID 1.237 (31.42MM)
OD 1.435 (36.47MM)

233-3139
O-RING

SHAFT SEAL HT6

ID 1.22 (31MM)
OD 1.464 (37.19MM)

233-3142
O-RING CAPTIVE

(33 MM)
DENSO AUDI/VW

ID 1.296 (32.92MM)
OD 1.574 (39.98MM)

233-3143
O-RING CAPTIVE

(36 MM)
DENSO HON/LEX/TOY

ID 1.428 (36.27MM)
OD 1.572 (39.93MM)

233-3144

O-RING
SWITCH PORT GM

ID 0.850 (21.6MM)
OD 1.039 (26.4MM)

233-3126 233-3127233-3117233-3120 233-3121233-3119

233-3125 233-3130233-3122 233-3140



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

O-RING GM OIL
TUBE/FILL BOLT
ID 0.239 (6.07MM)
OD 0.379 (9.63MM)

233-3013
O-RING PAD MOUNT

5 MM
ID 0.197 (5MM)

OD 0.353 (8.97MM)

233-3014
O-RING CAPTIVE

7 MM FORD COMBO VALVE
ID 0.267 (6.60MM)
OD 0.40 (10.16MM)

233-3020

O-RING TOYOTA
#5 HOSE FITTING

ID 0.276 (7MM)
OD 0.394 (10MM)

233-3023
O-RING CAPTIVE

#6 (3/8 ”)
ID 0.262 (6.65MM)

OD 0.468 (11.89MM)

233-3022
O-RING ACU/FORD/GM/

HON/INF/JAG/LEX
ID 0.266 (6.76MM)

OD 0.406 (10.31MM)

233-3025

O-RING CAPTIVE
6 MM 

ID 0.236 (5.99MM)
OD 0.394 (10MM)

233-3016
O-RING ORIFICE TUBE
ACU/CHRY/FORD/GM

ID 0.256 (6.5MM)
OD 0.378 (9.6MM)

233-3017

O-RING ORIFICE TUBE
FORD/CHRY

ID 0.301 (7.65MM)
OD 0.430 (10.91MM)

233-3027

O-RING PRESSURE
SWITCH TOYOTA
ID 0.364 (9.25MM)

OD 0.504 (12.81MM)

233-3035 233-3039
O-RING R12

CHRY/FORD/GM/SAAB
ID 0.351 (8.92MM)

OD 0.495 (12.57MM)

O-RING STANDARD
#8 HOSE FITTING
ID 0.426 (10.82MM)
OD 0.566 (14.38MM)

233-3047
O-RING CAPTIVE

#8 (1/2 ”)
ID 0.364 (9.25MM)

OD 0.554 (14.07MM)

233-3045

O-RING CAPTIVE
#6 (3/8 ”) BMW/GM

ID 0.276 (7MM)
OD 0.466 (11.84MM)

233-3032
O-RING HPRV VALVE

M10 GM/JAG
ID 0.331 (8.41MM)

OD 0.465 (11.81MM)

233-3036

O-RING ORIFICE
GM PPOT

ID 0.433 (11MM)
OD 0.559 (14.2MM)

233-3053
O-RING DISCHGE DENSO

MANIF 10PA15C
ID 0.417 (10.59MM)
OD 0.605 (15.37MM)

233-3054
O-RING DUAL

#10 (5/8 ”) GM
ID 0.468 (11.89MM)
OD 0.624 (15.85MM) 

233-3058

MOST POPULAR (233-3179)

O-RING CAPTIVE
#8 (1/2 ”) GM/BMW/OPEL

ID 0.362 (9.19MM)
OD 0.568 (14.43MM)

233-3042

11

GM DUAL LINE WASHERS

SWITCH PORTS GM CAPTIVE O-RINGS GM DUAL CAPTIVE O-RINGS

COMPRESSOR MANIFOLD All O-Rings are actual size

STANDARD HOSE FITTINGS STANDARD HOSE FITTINGS

METRIC SPRINGLOCK O-RINGS SPRING GARTER SPRINGS FORD P-NUT O-RINGS

233-3103233-3047 233-3088233-3024
O-RING STANDARD 

#6 (3/8 ”)
ID 0.301 (7.65MM)
OD 0.441 (11.2MM)

O-RING STANDARD
#8 (1/2") HOSE FITTING

ID 0.426 (10.82MM)
OD 0.566 (14.38MM)

O-RING STANDARD
#10 HOSE FITTING

ID 0.515 (14MM)
OD 0.669 (17MM)

O-RING STANDARD
#12 (3/4 ”) TUBE-O
ID 0.676 (17.17MM)
OD 0.816 (20.73MM)

233-4016 233-4018
GASKET WASHER

METAL DUAL
O-RING GM
#8 (1/2 ”)

GASKET WASHER
DUAL O-RING GM

#12 (3/4 ”)

233-4017
GASKET WASHER
DUAL O-RING GM

#10 (5/8 ”)

233-3023 233-3036 233-3039 233-3035
O-RING TOYOTA

#5 HOSE FITTING

ID 0.276 (7MM)
OD 0.394 (10MM)

O-RING HPRV VALVE
M10 GM/JAG

ID 0.331 (8.41MM)
OD 0.465 (11.81MM)

O-RING R12
CHRY/FORD/GM/SAAB

ID 0.351 (8.92MM)
OD 0.495 (12.57MM)

O-RING PRESSURE
SWITCH TOYOTA

ID 0.364 (9.25MM)
OD 0.504 (12.81MM)

O-RING SWITCH PORT
GM

ID 0.850 (21.6MM)
OD 1.039 (26.4MM)

233-3140 233-3045 233-3090
O-RING CAPTIVE

#6 (3/8 ”) BMW/GM

ID 0.276 (7MM)
OD 0.466 (11.84MM)

233-3032
O-RING CAPTIVE

#8 (1/2 ”)

ID 0.364 (9.25MM)
OD 0.554 (14.07MM)

O-RING CAPTIVE
#12 (3/4 ”)

ID 0.549 (13.94MM)
OD 0.755 (19.018MM) 

233-3067 233-3058 233-3095
O-RING CAPTIVE
 #10 (5/8 ”) GM

ID 0.472 (11.99MM)
OD 0.668 (16.97MM)

O-RING DUAL
#10 (5/8 ”) GM

ID 0.468 (11.89MM)
OD 0.624 (15.85MM) 

O-RING DUAL
#12 (3/4 ”) GM

ID 0.61 (15.49MM)
OD 0.768 (19.51MM)

O-RING COMPRESSOR OVAL
SUCT/DISCH GM

ID 0.90 (23MM)
OD 1.11 (28.19MM)

O-RING SUCTION/DISCH PORT
GM/HARR

ID 0.859 (21.82MM)
OD 1.137 (28.88MM)

O-RING 
DISCHGE DENSO
MANIF 10PA15C

ID 0.417 (10.59MM)
OD 0.605 (15.37MM)

233-3054 233-3074
O-RING CAPTIVE

(13 MM)
DENSO SUCTN/

MANIFOLD
ID 0.535 (13.59MM)
OD 0.723 (18.36MM)

233-3119
O-RING

SUCTN/DISCH DENSO
CHRY/HON/MAZ

ID 0.737 (18.72MM)
OD 0.943 (23.96MM)

O-RING
SUCTN/DISCH DENSO

CHRY/FORD/GM

ID 0.772 (19.61MM)
OD 0.958 (24.33MM)

233-3126
O-RING COMPRESSOR

SUCT/DISCH
FS6 OVAL

ID 0.748 (19MM)
OD 0.964 (24.49MM)

233-3118
O-RING PAD MOUNT

SUCTN/DISCH FORD/GM

ID 0.796 (20.22MM)
OD 1.074 (27.28MM)

233-3122 233-3128 233-3131233-4012
GASKET MOLDED

HNBR W/TABS
MERCEDES

233-3016 233-3025233-3020 233-3053233-3014233-3013 233-3027 233-3017
O-RING CAPTIVE

(6 MM) 

ID 0.236 (5.99MM)
OD 0.394 (10MM)

O-RING GM OIL
TUBE/FILL BOLT

ID 0.239 (6.07MM)
OD 0.385 (9.77MM)

O-RING PAD MOUNT
(5 MM)

ID 0.197 (5MM)
OD 0.353 (8.97MM)

O-RING CAPTIVE
(7 MM) 

FORD COMBO VALVE
ID 0.267 (6.60MM)
OD 0.40 (10.16MM)

O-RING ACU/FORD/
GM/HON/INF/JAG/LEX

ID 0.266 (6.76MM)
OD 0.406 (10.31MM)

O-RING ORIFICE
FORD/CHRY

ID 0.301 (7.65MM)
OD 0.430 (10.91MM)

O-RING ORIFICE TUBE
ACU/CHRY/FORD/GM

ID 0.256 (6.5MM)
OD 0.378 (9.6MM)

O-RING ORIFICE
GM PPOT

ID 0.433 (11MM)
OD 0.559 (14.2MM)

233-3150 233-3165233-3155 233-3160
O-RING SPRINGLOCK

#6 METRIC
CHRY/FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM)

O-RING SPRINGLOCK
#8 METRIC FORD

ID 0.40 (10.12 MM)
OD 0.546 (13.87MM )

O-RING SPRINGLOCK
#10 (5/8 ”) CHRY/FORD

ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

O-RING SPRINGLOCK
#12 (3/4 ”)

JEEP/CHRYSLER
ID 0.617 (15.67MM)
OD 0.769 (19.53MM)

233-3156233-3151 233-3161 233-3166
SPIRINGLOCK

GARTER SPRING
#6 (3/8 ”)

SPRINGLOCK
GARTER SPRING

#10 (5/8 ”) CHRY/FORD

SPRINGLOCK
GARTER SPRING

#12 (3/4 ”)

233-3022 233-3071 233-3099
O-RING CAPTIVE

#6 (3/8 ”)

ID 0.262 (6.65MM)
OD 0.468 (11.89MM)

O-RING P-NUT
#10 (5/8 ”)

FORD/MERC
ID 0.457 (11.61MM)
OD 0.653 (16.59MM)

O-RING DISCHARGE
SHAFT SEAL

HEAD NISSAN
ID 0.563 (14.3MM)

OD 0.769 (19.53MM)

233-3145
O-RING CAPTIVE
#8 (1/2 ”) DUAL
ID 0.394 (10MM)

OD 0.552 (14.02MM)

233-3042
O-RING CAPTIVE

#8 (1/2 ”)
GM/BMW/OPEL
ID 0.362 (9.19MM)

OD 0.568 (14.43MM)

SPRINGLOCK
GARTER SPRING

#8 (1/2 ”) CHRY/FORD

O-RING STANDARD
#6 (3/8 ”)

ID 0.301 (7.65MM)
OD 0.441 (11.2MM)

233-3024



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

MOST POPULAR (233-3179)

233-3165
O-RING SPRINGLOCK

#12 (3/4 ”) JEEP/CHRYSLER
ID 0.617 (15.67MM)
OD 0.769 (19.53MM)

O-RING P-NUT
#10 (5/8 ”) FORD/MERC

ID 0.457 (11.61MM)
OD 0.653 (16.59MM)

233-3071
O-RING CAPTIVE 13 MM

DENSO SUCTN/MANIFOLD
ID 0.535 (13.59MM)
OD 0.723 (18.36MM)

233-3074
O-RING STANDARD
#10 HOSE FITTING

ID 0.551 (14MM)
OD 0.691 (17.55mm)

233-3088
O-RING CAPTIVE

#12 (3/4 ”)
ID 0.549 (16.94MM)
OD 0.755 (19.18MM) 

233-3090

O-RING DISCHARGE SHAFT
SEAL HEAD NISSAN

ID 0.563 (14.3MM)
OD 0.769 (19.53MM)

233-3099
O-RING STANDARD
#12 (3/4 ”) TUBE-O

ID 0.676 (17.17MM)
OD 0.816 (20.73MM)

233-3103

O-RING SUCTN/DISCH
DENSO CHRY/FORD/GM

ID 0.772 (19.61MM)
OD 0.958 (24.33MM)

233-3126
O-RING SUCTION/DISCH

PORT GM/HARR
ID 0.859 (21.82MM)
OD 1.137 (28.88MM)

233-3131
O-RING PAD MOUNT

SUCTN/DISCH FORD/GM
ID 0.796 (20.22MM)
OD 1.074 (27.28MM)

233-3122

O-RING SUCTN/DISCH
DENSO CHRY/HON/MAZ

ID 0.737 (18.72MM)
OD 0.943 (23.96MM)

233-3119
O-RING COMPRESSOR
SUCT/DISCH FS6 OVAL

ID 0.748 (19MM)
OD 0.964 (24.49MM)

233-3118

O-RING COMPRESSOR
OVAL SUCT/DISCH GM

ID 0.90 (23MM)
OD 1.11 (28.19MM)

233-3128
O-RING SWITCH

PORT GM
ID 0.850 (21.6MM)
OD 1.039 (26.4MM)

233-3140

O-RING SPRINGLOCK #6 METRIC
CHRY/FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM)

233-3150
O-RING SPRINGLOCK

#8 METRIC FORD
ID 0.40 (10.12 MM)

OD 0.546 (13.87MM )

233-3155
O-RING SPRINGLOCK

#10 (5/8 ”)
ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

233-3160

O-RING DUAL
#12 (3/4 ”) GM
ID 0.61 (15.49MM)

OD 0.768 (19.51MM)

233-3095

O-RING CAPTIVE
#8 (1/2 ”) DUAL

ID 0.394 (10MM)
OD 0.552 (14.02MM)

233-3145

12

O-RING CAPTIVE
#10 (5/8 ”) GM
ID 0.472 (11.99MM)
OD 0.668 (16.97MM)

233-3067



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

MOST POPULAR (233-3179)

233-3151
 SPIRINGLOCK

GARTER SPRING #6 (3/8 ”)

233-3156

233-4018
GASKET WASHER DUAL
O-RING GM #12 (3/4 ”)

233-4017
GASKET WASHER DUAL
O-RING GM #10 (5/8 ”)

233-3161
SPRINGLOCK GARTER SPRING

#10 (5/8 ”) CHRY/FORD

233-3166
 SPRINGLOCK GARTER SPRING

#12 (3/4 ”)

O-RING GM OIL TUBE/FILL BOLT ID 0.239 (6.07MM) OD 0.379 (9.63MM)
O-RING PAD MOUNT (5 MM) ID 0.197 (5MM) OD 0.353 (8.97MM)
O-RING CAPTIVE 6MM ID 0.236 (5.99MM) OD 0.394 (10MM)
O-RING ORIFICE TUBE ACU/CHRY/FORD/GM ID 0.256 (6.5MM) OD 0.378 (9.6MM)
O-RING CAPTIVE (7 MM) FORD COMBO VALVE ID 0.267 (6.60MM) OD 0.40 (10.16MM)
O-RING CAPTIVE #6 (3/8 ”) ID 0.262 (6.65MM) OD 0.468 (11.89MM)
O-RING TOYOTA #5 HOSE FITTING ID 0.276 (7MM) OD 0.394 (10MM)
O-RING STANDARD #6 (3/8 ”) ID 0.301 (7.65MM) OD 0.441 (11.2MM)
O-RING  ACU/FORD/GM/HON/INF/JAG/LEX ID 0.266 (6.76MM) OD 0.406 (10.31MM)
O-RING ORIFICE TUBE FORD/CHRY ID 0.301 (7.65MM) OD 0.430 (10.91MM)
O-RING CAPTIVE #6 (3/8 ”) BMW/GM ID 0.276 (7MM) OD 0.466 (11.84MM)
O-RING PRESSURE SWITCH TOYOTA ID 0.364 (9.25MM) OD 0.504 (12.81MM)
O-RING HPRV VALVE M10 GM/JAG ID 0.331 (8.41MM) OD 0.465 (11.81MM)
O-RING R12 CHRY/FORD/GM/SAAB ID 0.351 (8.92MM) OD 0.495 (12.57MM)
O-RING CAPTIVE #8 (1/2 ”) GM/BMW/OPEL ID 0.362 (9.19MM) OD 0.568 (14.43MM)
O-RING CAPTIVE #8 (1/2 ”) ID 0.364 (9.25MM) OD 0.554 (14.07MM)
O-RING STANDARD #8 HOSE FITTING ID 0.426 (10.82MM) OD 0.566 (14.38MM)
O-RING ORIFICE GM PPOT ID 0.433 (11MM) OD 0.559 (14.2MM)
O-RING DISCHGE DENSO MANIF 10PA15C ID 0.417 (10.59MM) OD 0.605 (15.37MM)
O-RING DUAL #10 (5/8 ”) GM ID 0.468 (11.89MM) OD 0.624 (15.85MM)
O-RING CAPTIVE #10 (5/8 ”) GM ID 0.472 (11.99MM) OD 0.668 (16.97MM)
O-RING P-NUT #10 (5/8 ”)FORD/MERC ID 0.457 (11.61MM) OD 0.653 (16.59MM)
O-RING CAPTIVE (13 MM) DENSO SUCTN/MANIFOLD ID 0.535 (13.59MM) OD 0.723 (18.36MM)
O-RING STANDARD #10 HOSE FITTING ID 0.551 (14MM) OD 691 (17.55mm)
O-RING CAPTIVE #12 (3/4 ”) ID 0.549 (16.94MM) OD 0.755 (19.18MM)
O-RING DUAL #12 (3/4 ”) GM ID 0.61 (15.49MM) OD 0.768 (19.51MM)
O-RING DISCHARGE SHAFT SEAL HEAD NISSAN ID 0.563 (14.3MM) OD 0.769 (19.53MM)
O-RING STANDARD #12 (3/4 ”) TUBE-O ID 0.676 (17.17MM) OD 0.816 (20.73MM)
O-RING COMPRESSOR SUCT/DISCH FS6 OVAL ID 0.748 (19MM) OD 0.964 (24.49MM)
O-RING SUCTN/DISCH DENSO CHRY/HON/MAZ  ID 0.737 (18.72MM) OD 0.943 (23.96MM)
O-RING PAD MOUNT SUCTN/DISCH FORD/GM ID 0.796 (20.22MM) OD 1.074 (27.28MM)
O-RING SUCTN/DISCH DENSO CHRY/FORD/GM ID 0.772 (19.61MM) OD 0.958 (24.33MM)
O-RING COMPRESSOR OVAL SUCT/DISCH GM ID 0.90 (23MM) OD 1.11 (28.19MM)
O-RING SUCTION/DISCH PORT GM/HARR ID 0.859 (21.82MM) OD 1.137 (28.88MM)
O-RING SWITCH PORT GM ID 0.850 (21.6MM) OD 1.039 (26.4MM)
O-RING CAPTIVE #8 (1/2 ”) DUAL ID 0.394 (10MM) OD 0.552 (14.02MM)
O-RING SPRINGLOCK #6 METRIC CHRY/FORD/HYU/MAZ/JAG ID 0.291 (7.38MM) OD 0.433 (11MM)
O-RING SPRINGLOCK #8 METRIC FORD ID 0.40 (10.12 MM) OD 0.546 (13.87MM )
O-RING SPRINGLOCK #10 (5/8 ”) CHRY/FORD ID 0.509 (12.93MM) OD 0.656 (16.68MM)
O-RING SPRINGLOCK #12 (3/4 ”) JEEP/CHRYSLER ID 0.617 (15.67MM) OD 0.769 (19.53MM)
GASKET MOLDED HNBR W/TABS MERCEDES
SPIRINGLOCK GARTER SPRING #6 (3/8 ”)
SPRINGLOCK GARTER SPRING #8 (1/2 ”) CHRY/FORD
SPRINGLOCK GARTER SPRING #10 (5/8 ”) CHRY/FORD
SPRINGLOCK GARTER SPRING #12 (3/4 ”)
GASKET WASHER METAL DUAL O-RING GM #8 (1/2 ”)
GASKET WASHER DUAL O-RING GM #10 (5/8 ”)
GASKET WASHER DUAL O-RING GM #12 (3/4 ”)

233-3013
233-3014
233-3016
233-3017
233-3020
233-3022
233-3023
233-3024
233-3025
233-3027
233-3032
233-3035
233-3036
233-3039
233-3042
233-3045
233-3047
233-3053
233-3054
233-3058
233-3067
233-3071
233-3074
233-3088
233-3090
233-3095
233-3099
233-3103
233-3118
233-3119
233-3122
233-3126
233-3128
233-3131
233-3140
233-3145
233-3150
233-3155
233-3160
233-3165
233-4012
233-3151
233-3156
233-3161
233-3166
233-4016
233-4017
233-4018

10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK
10 PK

O-Ring Start UP Kit 48 Compartment (Most Popular) 233-3179

SPRINGLOCK GARTER SPRING
#8 (1/2 ”) CHRY/FORD

13

GM DUAL LINE WASHERS

SWITCH PORTS GM CAPTIVE O-RINGS GM DUAL CAPTIVE O-RINGS

COMPRESSOR MANIFOLD All O-Rings are actual size

STANDARD HOSE FITTINGS STANDARD HOSE FITTINGS

METRIC SPRINGLOCK O-RINGS SPRING GARTER SPRINGS FORD P-NUT O-RINGS

233-3103233-3047 233-3088233-3024
O-RING STANDARD 

#6 (3/8 ”)
ID 0.301 (7.65MM)
OD 0.441 (11.2MM)

O-RING STANDARD
#8 (1/2") HOSE FITTING

ID 0.426 (10.82MM)
OD 0.566 (14.38MM)

O-RING STANDARD
#10 HOSE FITTING

ID 0.515 (14MM)
OD 0.669 (17MM)

O-RING STANDARD
#12 (3/4 ”) TUBE-O
ID 0.676 (17.17MM)
OD 0.816 (20.73MM)

233-4016 233-4018
GASKET WASHER

METAL DUAL
O-RING GM
#8 (1/2 ”)

GASKET WASHER
DUAL O-RING GM

#12 (3/4 ”)

233-4017
GASKET WASHER
DUAL O-RING GM

#10 (5/8 ”)

233-3023 233-3036 233-3039 233-3035
O-RING TOYOTA

#5 HOSE FITTING

ID 0.276 (7MM)
OD 0.394 (10MM)

O-RING HPRV VALVE
M10 GM/JAG

ID 0.331 (8.41MM)
OD 0.465 (11.81MM)

O-RING R12
CHRY/FORD/GM/SAAB

ID 0.351 (8.92MM)
OD 0.495 (12.57MM)

O-RING PRESSURE
SWITCH TOYOTA

ID 0.364 (9.25MM)
OD 0.504 (12.81MM)

O-RING SWITCH PORT
GM

ID 0.850 (21.6MM)
OD 1.039 (26.4MM)

233-3140 233-3045 233-3090
O-RING CAPTIVE

#6 (3/8 ”) BMW/GM

ID 0.276 (7MM)
OD 0.466 (11.84MM)

233-3032
O-RING CAPTIVE

#8 (1/2 ”)

ID 0.364 (9.25MM)
OD 0.554 (14.07MM)

O-RING CAPTIVE
#12 (3/4 ”)

ID 0.549 (13.94MM)
OD 0.755 (19.018MM) 

233-3067 233-3058 233-3095
O-RING CAPTIVE
 #10 (5/8 ”) GM

ID 0.472 (11.99MM)
OD 0.668 (16.97MM)

O-RING DUAL
#10 (5/8 ”) GM

ID 0.468 (11.89MM)
OD 0.624 (15.85MM) 

O-RING DUAL
#12 (3/4 ”) GM

ID 0.61 (15.49MM)
OD 0.768 (19.51MM)

O-RING COMPRESSOR OVAL
SUCT/DISCH GM

ID 0.90 (23MM)
OD 1.11 (28.19MM)

O-RING SUCTION/DISCH PORT
GM/HARR

ID 0.859 (21.82MM)
OD 1.137 (28.88MM)

O-RING 
DISCHGE DENSO
MANIF 10PA15C

ID 0.417 (10.59MM)
OD 0.605 (15.37MM)

233-3054 233-3074
O-RING CAPTIVE

(13 MM)
DENSO SUCTN/

MANIFOLD
ID 0.535 (13.59MM)
OD 0.723 (18.36MM)

233-3119
O-RING

SUCTN/DISCH DENSO
CHRY/HON/MAZ

ID 0.737 (18.72MM)
OD 0.943 (23.96MM)

O-RING
SUCTN/DISCH DENSO

CHRY/FORD/GM

ID 0.772 (19.61MM)
OD 0.958 (24.33MM)

233-3126
O-RING COMPRESSOR

SUCT/DISCH
FS6 OVAL

ID 0.748 (19MM)
OD 0.964 (24.49MM)

233-3118
O-RING PAD MOUNT

SUCTN/DISCH FORD/GM

ID 0.796 (20.22MM)
OD 1.074 (27.28MM)

233-3122 233-3128 233-3131233-4012
GASKET MOLDED

HNBR W/TABS
MERCEDES

233-3016 233-3025233-3020 233-3053233-3014233-3013 233-3027 233-3017
O-RING CAPTIVE

(6 MM) 

ID 0.236 (5.99MM)
OD 0.394 (10MM)

O-RING GM OIL
TUBE/FILL BOLT

ID 0.239 (6.07MM)
OD 0.385 (9.77MM)

O-RING PAD MOUNT
(5 MM)

ID 0.197 (5MM)
OD 0.353 (8.97MM)

O-RING CAPTIVE
(7 MM) 

FORD COMBO VALVE
ID 0.267 (6.60MM)
OD 0.40 (10.16MM)

O-RING ACU/FORD/
GM/HON/INF/JAG/LEX

ID 0.266 (6.76MM)
OD 0.406 (10.31MM)

O-RING ORIFICE
FORD/CHRY

ID 0.301 (7.65MM)
OD 0.430 (10.91MM)

O-RING ORIFICE TUBE
ACU/CHRY/FORD/GM

ID 0.256 (6.5MM)
OD 0.378 (9.6MM)

O-RING ORIFICE
GM PPOT

ID 0.433 (11MM)
OD 0.559 (14.2MM)

233-3150 233-3165233-3155 233-3160
O-RING SPRINGLOCK

#6 METRIC
CHRY/FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM)

O-RING SPRINGLOCK
#8 METRIC FORD

ID 0.40 (10.12 MM)
OD 0.546 (13.87MM )

O-RING SPRINGLOCK
#10 (5/8 ”) CHRY/FORD

ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

O-RING SPRINGLOCK
#12 (3/4 ”)

JEEP/CHRYSLER
ID 0.617 (15.67MM)
OD 0.769 (19.53MM)

233-3156233-3151 233-3161 233-3166
SPIRINGLOCK

GARTER SPRING
#6 (3/8 ”)

SPRINGLOCK
GARTER SPRING

#10 (5/8 ”) CHRY/FORD

SPRINGLOCK
GARTER SPRING

#12 (3/4 ”)

233-3022 233-3071 233-3099
O-RING CAPTIVE

#6 (3/8 ”)

ID 0.262 (6.65MM)
OD 0.468 (11.89MM)

O-RING P-NUT
#10 (5/8 ”)

FORD/MERC
ID 0.457 (11.61MM)
OD 0.653 (16.59MM)

O-RING DISCHARGE
SHAFT SEAL

HEAD NISSAN
ID 0.563 (14.3MM)

OD 0.769 (19.53MM)

233-3145
O-RING CAPTIVE
#8 (1/2 ”) DUAL
ID 0.394 (10MM)

OD 0.552 (14.02MM)

233-3042
O-RING CAPTIVE

#8 (1/2 ”)
GM/BMW/OPEL
ID 0.362 (9.19MM)

OD 0.568 (14.43MM)

SPRINGLOCK
GARTER SPRING

#8 (1/2 ”) CHRY/FORD

233-4016
GASKET WASHER METAL

DUAL O-RING GM #8 (1/2 ”)

233-4012
GASKET MOLDED

W/TABS MERCEDES



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

SEALING WASHER KIT (233-5075)

SEALING WASHER
GM RED

ID 15.30MM

233-5055

SEALING WASHER
GM 5/8" THICK

ID 15.24MM

233-5053

SEALING WASHER
GM YELLOW
ID 15.30MM

233-5056

233-5062 233-5063

233-5060 233-5061

233-5051
SEALING WASHER

GM 5/8" THICK
ID 15MM

233-5052
SEALING WASHER

GM 3/4" THIN
ID 17.50MM

SEALING WASHER
CHRYSLER DISCHARGE HOOK

ID 11.43MM

233-5026
SEALING WASHER

CHRYS SUCTN HOOK
ID 15.88MM

233-5025

233-5054
SEALING WASHER

GM GREEN
ID 15.30MM

SEALING WASHER
INSERT GM

SHORT

233-5068
SEALING WASHER

INSERT GM
LONG

233-5067

SEALING WASHER
SLIMLINE GM

ID 8MM

SEALING WASHER
SLIMLINE GM
ID 11.10MM

SEALING WASHER
SLIMLINE GM
ID 17.20MM

SEALING WASHER
SLIMLINE GM
ID 15.50MM

SEALING WASHER CHRYS SUCTN HOOK ID 15.88MM
SEALING WASHER CHRYS DISCH HOOK ID 11.43MM
SEALING WASHER 5/8" THICK ID 15MM
SEALING WASHER 3/4" THIN ID 17.50MM
SEALING WASHER 5/8" THIN ID 15.24MM
SEALING WASHER GM GREEN ID 15.30MM
SEALING WASHER GM RED ID 15.30MM
SEALING WASHER GM YELLOW ID 15.30MM
SEALING WASHER SLIMLINE GM ID 8MM
SEALING WASHER SLIMLINE GM ID 11.10MM
SEALING WASHER SLIMLINE GM ID 17.20MM
SEALING WASHER SLIMLINE GM ID 15.50MM
SEALING WASHER INSERT GM LONG
SEALING WASHER INSERT GM SHORT

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

233-5025
233-5026
233-5051
233-5052
233-5053
233-5054
233-5055
233-5056
233-5060
233-5061
233-5062
233-5063
233-5067
233-5068

Sealing Washer Assortment Startup Kit (233-5075)

14



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

SEALING WASHER KIT (233-3000)

SEALING WASHER
5/8" THIN

ID 15.50MM

233-5053233-5051
SEALING WASHER

5/8" THICK
ID 15MM

233-5052
SEALING WASHER

3/4" THIN
ID 17.50MM

SEALING WASHER
GM RED

ID 15.30MM

233-5055

233-5054
SEALING WASHER

GM GREEN
ID 15.30MM

SEALING WASHER
GM YELLOW
ID 15.30MM

SEALING WASHER
SLIMLINE

ID 17.91MM OD 27.99MM

SEALING WASHER
CHRY/JEEP 05-06

GREEN ID 9.52MM

233-5064
SEALING WASHER

SLIMLINE GM
ID 17.20MM

233-5062 233-5063
SEALING WASHER

SLIMLINE GM
ID 15.50MM

SEALING WASHER
MSF RED

5/8"

233-5066233-5065
SEALING WASHER

MSF 1/2"
SEALING WASHER

MSF 8MM

233-5070 233-5071
SEALING WASHER
SLIMLINE GREEN

ID 7.92MM

233-5069
SEALING WASHER

GREEN
ID 8.26MM

SEALING WASHER
SLIMLINE GREEN

ID 11.18MM

233-5056 233-5057 233-5059

SEALING WASHER
SLIMLINE GM

ID 8MM

SEALING WASHER
SLIMLINE GM
ID 11.10MM

233-5060 233-5061

233-5058
SEALING WASHER

05-06 DODGE
ID 17.93MM

233-5020
GASKET DISCHARGE

CHRYSLER/ NIPPONDENSO 10S
ID 14.30MM

15



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

233-5079

233-5074 233-5076 233-5077
SEALING WASHER

SLIMLINE
ID 14.91MM

SEALING WASHER
STAT-O-SEAL
ID 14.22MM

SEALING WASHER
SLIMLINE

ID 14.99MM 

233-5078
SEALING WASHER

STAT-O-SEAL
ID 15.37MM

SEALING WASHER
SLIMLINE

ID 15.50MM

233-5080 233-5081 233-5082
SEALING WASHER

SLIMLINE
ID 17.07MM

SEALING WASHER
SLIMLINE

ID 17.15MM

SEALING WASHER
SLIMLINE

ID 17.15MM

233-5083
SEALING WASHER

STAT-O-SEAL
ID 17.27MM

233-5084
SEALING WASHER

SLIMLINE
ID 17.53MM

233-5087233-5086233-5085
SEALING WASHER

SLIMLINE
ID 19.55MM

SEALING WASHER
HONDA
ID 8MM

SEALING WASHER
HONDA

ID 15MM

233-5088
SEALING WASHER

HONDA
ID 1/2"

233-5089
SEALING WASHER

HONDA
ID 5/8"

233-5090
GASKET DRIER

W/O-RING
ID 10.31MM

233-5091
GASKET SUCTION

W/O-RING CHRYLSER
ID 13.59MM

233-5092
GASKET DISCHARGE

W/2 O-RINGS
ID 11.51MM

SEALING WASHER KIT (233-3000)

233-5072 233-5073
SEALING WASHER

STAT-O-SEAL
ID 11.23MM

SEALING WASHER
SLIMLINE

ID 13.31MM

16



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

SEALING WASHER
CATERPILLAR
ID 17.1MM

233-5100

SEALING WASHER
W/ O-RING

ID 15.63MM

SEALING WASHER
W/O-RING

ID 18.04MM

233-5097233-5096
SEALING WASHER

W/O-RING
ID 15.07MM

233-5095

GASKET DISCHARGE CHRYSLER / NIPPONDENSO 10S ID 14.30MM
SEALING WASHER 5/8" THICK ID 15MM
SEALING WASHER 3/4" THIN ID 17.50MM
SEALING WASHER 5/8" THIN ID 15.50MM
SEALING WASHER GM GREEN ID 15.30MM
SEALING WASHER GM RED ID 15.30MM
SEALING WASHER GM YELLOW ID 15.30MM
SEALING WASHER SLIMLINE ID 17.91MM OD 27.99MM
SEALING WASHER 05-06 DODGE ID 17.93MM
SEALING WASHER CHRY/JEEP 05-06 GREEN ID 9.52MM
SEALING WASHER SLIMLINE GM ID 8MM
SEALING WASHER SLIMLINE GM ID 11.10MM
SEALING WASHER SLIMLINE GM ID 17.20MM
SEALING WASHER SLIMLINE GM ID 15.50MM
SEALING WASHER MSF RED 5/8"
SEALING WASHER MSF 1/2"
SEALING WASHER MSF 8MM
SEALING WASHER SLIMLINE GREEN ID 7.92MM
SEALING WASHER GREEN ID 8.26MM
SEALING WASHER SLIMLINE GREEN ID 11.18MM
SEALING WASHER STAT-O-SEAL ID 11.23MM
SEALING WASHER SLIMLINE ID 13.31MMWASHER
SEALING WASHER STAT-O-SEAL ID 14.22MM 1 EA
SEALING WASHER SLIMLINE ID 14.91MM
SEALING WASHER SLIMLINE ID 14.99MM
SEALING WASHER STAT-O-SEAL ID 15.37MM
SEALING WASHER SLIMLINE ID 15.50MM
SEALING WASHER SLIMLINE ID 17.07MM
SEALING WASHER SLIMLINE ID 17.15MM
SEALING WASHER SLIMLINE ID 17.15MM
SEALING WASHER STAT-O-SEAL ID 17.27MM
SEALING WASHER SLIMLINE ID 17.53MM
SEALING WASHER SLIMLINE ID 19.55MM
SEALING WASHER HONDA ID 8MM
SEALING WASHER HONDA ID 15MM
SEALING WASHER HONDA ID 1/2IN
SEALING WASHER HONDA ID 5/8IN
GASKET DRIER W/O-RING ID 10.31MM
GASKET SUCTION W/O-RING CHRYLSER ID 13.59MM
GASKET DISCHARGE W/2 O-RINGS ID 11.51MM
GASKET SUCTION W/O-RING ID 16.MM
SEALING WASHER W/O-RING CHRYSLER ID 15.11MM
SEALING WASHER W/O-RING ID 15.07MM
SEALING WASHER W/O-RING ID 18.04MM
SEALING WASHER W/ O-RING ID 15.63MM
SEALING WASHER W/O-RING ID 21.4MM
SEALING WASHER CATERPILLAR ID 11MM
SEALING WASHER CATERPILLAR ID 17.1MM

233-5020
233-5051
233-5052
233-5053
233-5054
233-5055
233-5056
233-5057
233-5058
233-5059
233-5060
233-5061
233-5062
233-5063
233-5064
233-5065
233-5066
233-5069
233-5070
233-5071
233-5072
233-5073
233-5074
233-5076
233-5077
233-5078
233-5079
233-5080
233-5081
233-5082
233-5083
233-5084
233-5085
233-5086
233-5087
233-5088
233-5089
233-5090
233-5091
233-5092
233-5093
233-5094
233-5095
233-5096
233-5097
233-5098
233-5099
233-5100

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

SEALING WASHER KIT (233-3000)

Sealing Washer Master Kit 48 Compartment (233-3000)

SEALING WASHER
W/O-RING
ID 21.4MM

233-5098
SEALING WASHER

CATERPILLAR
ID 11MM

233-5099

233-5093
GASKET SUCTION

W/O-RING
ID 16.MM

SEALING WASHER
W/O-RING CHRYSLER

ID 15.11MM

233-5094

17



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

GASKET KIT (233-5024)

233-4002
GASKET MOLDED

NIPP 10PA15/10PA17
SERIES

GASKET MOLDED
BMW/NIPPONDENSO

233-4008 233-4011
GASKET MOLDED

MERCEDES/NIPPONDENSO

233-4012
GASKET MOLDED

W/TABS MERCEDES

233-4016
GASKET WASHER

METAL DUAL
O-RING GM #8

233-4017
GASKET WASHER

DUAL O-RING
GM #10

233-5003
GASKET BOTTLE

BLOCK BOLT
(.377) METAL

233-5004
GASKET BOTTLE

BLOCK BOLT
(.437) METAL 

233-5005
GASKET CHRYSLER

SUCTION
LINE METAL

233-5007
GASKET 6 C/17

DISCHARGE
PORT METAL 

233-5010
GASKET 6 C/17

SUCTION
PORT METAL

233-5012
GASKET CHRYSLER

SUCTION
H-TYPE

233-5013
GASKET CONDENSER

MANIFOLD
METAL

233-5014
GASKET EXP VALVE
TO EVAP OR GOLD

BLOCKS METAL

233-5015
GASKET EXP VALVE

TO EVAP FOR GOLD OR
BLACK BLOCKS METAL 

233-5016
GASKET SUCTION

DISCHARGE
PORT METAL

18



COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

GASKET KIT (233-5024)

233-5017
GASKET SUCTION

LINE METAL

233-5018
CHRYSLER 10S

COMPR MANIFOLD
DISCH AND SUCTION KIT

233-5028
EXPANSION VALVE

PLASTIC PILOT
LARGE

233-5090
GASKET DRIER

W/O-RING
ID 10.31MM

233-5091
GASKET SUCTION

W/O-RING CHRYLSER
ID 13.59MM

233-5093
GASKET SUCTION

W/O-RING
ID 16MM

GASKET MOLDED GREEN NIPP 10PA15/10PA17 SERIES
GASKET MOLDED BMW/NIPPONDENSO
GASKET MOLDED MERCEDES/NIPPONDENSO
GASKET MOLDED W/TABS MERCEDES
GASKET WASHER METAL DUAL O-RING GM #8 (1/2IN)
GASKET WASHER DUAL O-RING GM #10 (5/8IN)
GASKET BOTTLE BLOCK BOLT (.377) METAL
GASKET BOTTLE BLOCK BOLT (.437) METAL
GASKET CHRYSLER SUCTION LINE METAL
GASKET 6 C/17 DISCHARGE PORT METAL
GASKET 6 C/17 SUCTION PORT METAL
GASKET CHRYSLER SUCTION H-TYPE
GASKET CONDENSER MANIFOLD METAL
GASKET EXP VALVE TO EVAP OR GOLD BLOCKS METAL
GASKET EXP VALVE TO EVAP FOR GOLD OR BLK BLOCKS METAL
GASKET SUCTION DISCHARGE PORT METAL
GASKET SUCTION LINE METAL
CHRYSLER 10S COMPR MANIFOLD DISCH AND SUCTION KIT
EXPANSION VALVE PLASTIC PILOT SMALL
EXPANSION VALVE PLASTIC PILOT LARGE
GASKET YORK & TECUMSEH FLANGE SERVICE VALVE 1 EA
GASKET DRIER W/O-RING ID 10.31MM
GASKET SUCTION W/O-RING CHRYLSER ID 13.59MM
GASKET SUCTION W/O-RING ID 16.MM

233-4002
233-4008
233-4011
233-4012
233-4016
233-4017
233-5003
233-5004
233-5005
233-5007
233-5010
233-5012
233-5013
233-5014
233-5015
233-5016
233-5017
233-5018
233-5027
233-5028
233-5022
233-5090
233-5091
233-5093

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

Master Chrysler Metal Gasket Master Kit (233-5024)

233-5022
GASKET YORK

& TECUMSEH FLANGE
SERVICE VALVE 

233-5027
EXPANSION VALVE

PLASTIC PILOT
SMALL

19



Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTSVALVE CORE & CAP KIT (233-6034)

20

233-6005

233-6012 233-6013

233-6015 233-6016

233-6001233-6000 233-6006

233-6008 233-6009

233-6020 233-6021

235-6025235-6024 235-6026235-6023

SERVICE CAP
R-12 HIGH SIDE

3/16" MALE FLARE

SERVICE CAP
R12 LOW SIDE

1/4" MALE FLARE

SERVICE CAP
134A LOW SIDE
13MM M8 X 1.0

SERVICE CAP
134A LOW SIDE

13MM EATON SSV

SERVICE CAP
134A HIGH SIDE

16MM EATON SSV

SERVICE CAP
134A LOW SIDE

JRA 13MM M9 X 1.0

SERVICE CAP
134A HIGH SIDE

JRA 16MM M10 X 1.25

SERVICE CAP
134A HIGH SIDE
16MM M8 X 1.0

SERVICE CAP 134A LOW SIDE
AEROQUIP RETRO FIT FITTINGS

13MM

SERVICE CAP 134A HIGH SIDE
AEROQUIP RETRO FIT FITTINGS

16MM

SERVICE CAP
134A LOW SIDE

LIGHT BLUE M9 X 1.0

SERVICE CAP
134A HIGH SIDE

LIGHT BLUE M10 X 1.25

FITTING SERVICE PORT
LOW SIDE ALUMINUM

HIGH FLOW GM

FITTING SERVICE PORT
ALUMINUM GM

HIGH SIDE

SERVICE PORT
ADAPTER

16MM GM

SERVICE PORT
PRIMARY SEAL

R12 GM



Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTSVALVE CORE & CAP KIT (233-6034)

SERVICE CAP R-12 HIGH SIDE 3/16" MALE FLARE
SERVICE CAP R12 LOW SIDE 1/4" MALE FLARE
SERVICE CAP 134A LOW SIDE 13MM M8 X 1.0
SERVICE CAP 134A HIGH SIDE 16MM M8 X 1.0
SERVICE CAP 134A LOW SIDE AEROQUIP RETRO FIT FITTINGS 13MM
SERVICE CAP 134A HIGH SIDE AEROQUIP RETRO FIT FITTINGS 16MM
SERVICE CAP 134A LOW SIDE 13MM EATON SSV
SERVICE CAP 134A HIGH SIDE 16MM EATON SSV
SERVICE CAP 134A LOW SIDE JRA 13MM M9 X 1.0
SERVICE CAP 134A HIGH SIDE JRA 16MM M10 X 1.25
SERVICE CAP 134A LOW SIDE LIGHT BLUE M9 X 1.0
SERVICE CAP 134A HIGH SIDE LIGHT BLUE M10 X 1.25
SERVICE PORT PRIMARY SEAL R12 GM
FITTING SERVICE PORT ALUMINUM GM HIGH SIDE
FITTING SERVICE PORT LOW SIDE ALUMINUM HIGH FLOW GM
SERVICE PORT ADAPTER 16MM GM
PRIMARY SEAL SERVICE PORT FORD R134A LOW SIDE 10 X 1.25
VALVE CORE GM/PETERBILT DIESEL TRUCK M8
VALVE CORE GM LARGE BORE
VALVE CORE GM/FORD/JRA IMPORT
VALVE CORE R12 & R134A STANDARD PORTS
VALVE CORE GM/PETERBILT DIESEL TRUCK M10
VALVE CORE RENAULT FRANCE R134A
VALVE CORE LARGE BORE EUROPEAN
VALVE CORE HYUNDAI/KIA M6 X 0.75
VALVE CORE REMOVAL TOOL M8,M10,JRA, STANDARD VALVE COR

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
2 PK
2 PK
2 PK
2 PK
5 PK
5 PK
5 PK
5 PK

10 PK
5 PK
5 PK
5 PK
5 PK
5 PK

Valve Core & Cap Master Kit (233-6034)

235-6027

242-1498233-7009233-7006

233-7002

233-7007233-7004

233-7000 233-7001 233-7003
PRIMARY SEAL SERVICE PORT

FORD R134A LOW SIDE
10 X 1.25

VALVE CORE
REMOVAL TOOL M8,M10,JRA,

STANDARD VALVE COR

VALVE CORE
HYUNDAI/KIA

M6 X 0.75

VALVE CORE
GM/FORD/JRA

IMPORT

VALVE CORE
RENAULT FRANCE

R134A

VALVE CORE
LARGE BORE
EUROPEAN

VALVE CORE
GM/PETERBILT

DIESEL TRUCK M10

VALVE CORE
GM/PETERBILT DIESEL

TRUCK M8

VALVE CORE
GM LARGE BORE

VALVE CORE
R12 & R134A

STANDARD PORTS

21

233-6000
233-6001
233-6005
233-6006
233-6008
233-6009
233-6012
233-6013
233-6015
233-6016
233-6020
233-6021
235-6023
235-6024
235-6025
235-6026
235-6027
233-7000
233-7001
233-7002
233-7003
233-7004
233-7006
233-7007
233-7009
242-1498



CAP KIT (233-6030)

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTS

SERVICE CAP
R-12 HIGH SIDE 3/16"

MALE FLARE

233-6000 233-6001
SERVICE CAP

R-12 LOW SIDE 1/4"
MALE FLARE

233-6005
SERVICE CAP

134A LOW SIDE
13MM M8 X 1.0

233-6006
SERVICE CAP

134A HIGH SIDE
16MM M8 X 1.0

233-6008
SERVICE CAP

134A LOW SIDE AEROQUIP
RETRO FIT FITTINGS 13MM

233-6009
SERVICE CAP

134A HIGH SIDE AEROQUIP
RETRO FIT FITTINGS 16MM

SERVICE CAP
134A LOW SIDE

13MM EATON SSV

233-6012 233-6013
SERVICE CAP

134A HIGH SIDE
16MM EATON SSV

SERVICE CAP
134A LOW SIDE LIGHT

BLUE M9 X 1.0

233-6020 233-6021
SERVICE CAP

134A HIGH SIDE
LIGHT BLUE M10 X 1.25 

233-6015
SERVICE CAP

134A LOW SIDE JRA
13MM M9 X 1.0

233-6016
SERVICE CAP

134A HIGH SIDE JRA
16MM M10 X 1.25

SERVICE CAP R-12 HIGH SIDE 3/16" MALE FLARE
SERVICE CAP R-12 LOW SIDE 1/4" MALE FLARE
SERVICE CAP 134A LOW SIDE 13MM M8 X 1.0
SERVICE CAP 134A HIGH SIDE 16MM M8 X 1.0
SERVICE CAP 134A LOW SIDE AEROQUIP RETRO FIT FITTINGS 13MM
SERVICE CAP 134A HIGH SIDE AEROQUIP RETRO FIT FITTINGS 16MM
SERVICE CAP 134A LOW SIDE 13MM EATON SSV
SERVICE CAP 134A HIGH SIDE 16MM EATON SSV 
SERVICE CAP 134A LOW SIDE LIGHT BLUE M9 X 1.0
SERVICE CAP 134A HIGH SIDE LIGHT BLUE 5 PACK
SERVICE CAP 134A LOW SIDE JRA 13MM M9 X 1.0 
SERVICE CAP 134A HIGH SIDE JRA 16MM M10 X 1.25

233-6000
233-6001
233-6005
233-6006
233-6008
233-6009
233-6012
233-6013
233-6020
233-6021
233-6015
233-6016

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

Service Cap Assortment Kit (233-6030)

22



VALVE CORE KIT (233-7010)

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTS

VALVE CORE
R12 & R134A

STANDARD PORTS

VALVE CORE
JRA IMP

GM/FORD

VALVE CORE
LARGE BORE

GM

VALVE CORE
GM/PETERBILT DIESEL

TRUCK M8

VALVE CORE
GM/PETERBILT DIESEL

TRUCK M10

VALVE CORE
R12 & R134A STANDARD
PORTS LOW PRESSURE

VALVE CORE
RENAULT FRANCE

R134A

VALVE CORE
M8 PEUGOT/VOLVO

233-7003233-7002233-7001233-7000

233-7004 233-7008233-7006233-7005

VALVE CORE GM/PETERBILT DIESEL TRUCK M8
VALVE CORE LARGE BORE GM
VALVE CORE JRA IMP GM/FORD
VALVE CORE R12 & R134A STANDARD PORTS
VALVE CORE GM/PETERBILT DIESEL TRUCK M10  
VALVE CORE M8 PEUGOT/VOLVO
VALVE CORE RENAULT FRANCE R134A      
VALVE CORE R12 & R134A STANDARD PORTS LOW PRESSURE

5 PK
5 PK
5 PK

10 PK
5 PK
5 PK
5 PK
5 PK

233-7000
233-7001
233-7002
233-7003
233-7004
233-7005
233-7006
233-7008

Valve Core Assortment Kit Master (233-7010)

23



1234YF CAPS AND VALVE CORE KIT (233-6101) 

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTS

24

233-7026
1234YF

STANDARD
VALVE CORE

233-7021
R1234YF VALVE CORE

GM/PETERBILT
DIESEL TRUCK M8

233-7024
R1234YF VALVE CORE

GM/PETERBILT
DIESEL TRUCK M10

233-7020
R1234YF

VALVE CORE
JRA IMP GM/FORD

233-6116
R1234YF
HI SIDE

PRIMARY SEAL

233-6105
R1234YF CAP

M8 X 1.0
LONG POST LOW SIDE

233-6106
R1234YF CAP

M9 X 1.0
SHORT POST LOW SIDE

233-6104
R1234YF CAP

M8 X 1.0
SHORT POST LOW SIDE

233-6108
R1234YF CAP

M10 X .75
LONG POST HI-SIDE

233-6107
R1234YF CAP
M10 X 1.25

SHORT POST HI-SIDE

233-6110
R1234YF

CAP W/ TETHER
M8 X 1.0 LONG POST

LOW SIDE

233-6111
R1234YF CAP
W/ TETHER

M9 X 1.0
SHORT POST LOW SIDE

233-6109
R1234YF

CAP W/ TETHER
M8 X 1.0 SHORT POST

LOW SIDE

233-6113
R1234YF

CAP W/ TETHER
M10 X .75

LONG POST HI-SIDE

233-6112
R1234YF

CAP W/ TETHER
M10 X 1.25

SHORT POST HI-SIDE

1234yf Caps & Valve Core Assortment Kit (233-6101)
233-7020
233-7021
233-7024
233-7026
233-6116
233-6104
233-6105
233-6106
233-6107
233-6108
233-6109
233-6110
233-6111
233-6112
233-6113

5 PK
5 PK
5 PK
5 PK
2 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

R1234YF VALVE CORE JRA IMP GM/FORD
R1234YF VALVE CORE GM/PETERBILT DIESEL TRUCK M8
R1234YF VALVE CORE GM/PETERBILT DIESEL TRUCK M10
1234YF STANDARD VALVE CORE
R1234YF HI SIDE PRIMARY SEAL
R1234YF CAP M8 X 1.0 SHORT POST LOW SIDE
R1234YF CAP M8 X 1.0 LONG POST LOW SIDE
R1234YF CAP M9 X 1.0 SHORT POST LOW SIDE
R1234YF CAP M10 X 1.25 SHORT POST HI-SIDE
R1234YF CAP M10 X .75 LONG POST HI-SIDE
R1234YF CAP W/ TETHER M8 X 1.0 SHORT POST LOW SIDE
R1234YF CAP W/ TETHER M8 X 1.0 LONG POST LOW SIDE
R1234YF CAP W/ TETHER M9 X 1.0 SHORT POST LOW SIDE
R1234YF CAP W/ TETHER M10 X 1.25 SHORT POST HI-SIDE
R1234YF CAP W/ TETHER M10 X .75 LONG POST HI-SIDE

233-7000
VALVE CORE

GM/PETERBILT DIESEL
TRUCK M8

233-7002
VALVE CORE

JRA IMP
GM/FORD

233-7009
VALVE CORE

HYUNDAI/KIA
M6 X 0.75

233-7007
VALVE CORE

LARGE BORE EUROPEAN

242-1449
R134A SOCKET

242-1498
VALVE CORE REMOVAL TOOL

M8, M10, JRA,
STANDARD VALVE CORE

233-6024
R134A HI-SIDE
PRIMARY SEAL

233-6027
R1234YF

LOW-SIDE
PRIMARY SEAL KIT

233-6026
R134A HI-SIDE
PRIMARY SEAL

KIT

233-6116
R1234YF
HI-SIDE

PRIMARY SEAL

233-7003
VALVE CORE

STANDARD LOW
& HI-SIDE

242-1448
R1234YF SOCKET

233-6025
R134A LOW-SIDE

PRIMARY SEAL

233-7005
VALVE CORE

M8 PEUGOT/VOLVO

1234YF CAPS AND VALVE CORE KIT (233-6101) 
COMPONENTSCOMPONENTS

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com
24

233-7004
VALVE CORE

GM/PETERBILT DIESEL
TRUCK M10

233-7001
VALVE CORE

GM LARGE BORE



COMPONENTSCOMPONENTS

1234yf Caps & Valve Core Assortment Kit (233-6101)

233-6104
CAP

M8 X 1.0 SHORT POST
LOW SIDE

233-6105
CAP

M8 X 1.0 LONG POST
LOW SIDE

233-6106
CAP

M9 X 1.0 SHORT POST
LOW SIDE

233-6107
CAP

M10 X 1.25 SHORT POST
HI-SIDE

233-6108
CAP

M10 X .75 LONG POST
HI-SIDE

233-6114
CAP

M10 X 1.0 SHORT POST
HI-SIDE

233-6103
CAP TETHER 

233-7001
233-7000
233-7002
233-7003
233-7004
233-7005
233-7007
233-7009
242-1448
242-1449
242-1498
233-6024
233-6025
233-6026
233-6027
233-6116
233-6104
233-6105
233-6106
233-6107
233-6108
233-6103

VALVE CORE GM LARGE BORE
VALVE CORE GM/PETERBILT DIESEL TRUCK M8
VALVE CORE JRA IMP GM/FORD
STANDARD LOW & HI-SIDE VALVE CORE
VALVE CORE GM/PETERBILT DIESEL TRUCK M10
VALVE CORE M8 PEUGOT/VOLVO
VALVE CORE LARGE BORE EUROPEAN
VALVE CORE HYUNDAI/KIA M6 X 0.75
R1234YF SOCKET
R134A SOCKET
VALVE CORE REMOVAL TOOL M8, M10, JRA, STANDARD VALVE CORE
R134A HI-SIDE PRIMARY SEAL
R134A LOW-SIDE PRIMARY SEAL
R134A HI-SIDE PRIMARY SEAL KIT
R1234YF LOW-SIDE PRIMARY SEAL KIT
R1234YF HI-SIDE PRIMARY SEAL
CAP M8 X 1.0 SHORT POST LOW SIDE
CAP M8 X 1.0 LONG POST LOW SIDE
CAP M9 X 1.0 SHORT POST LOW SIDE
CAP M10 X 1.25 SHORT POST HI-SIDE
CAP M10 X .75 LONG POST HI-SIDE
CAP TETHER

5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK
1 PK
1 PK
1 PK
2 PK
2 PK
KIT
KIT
KIT
5 PK
5 PK
5 PK
5 PK
5 PK
5 PK

1234YF CAPS AND VALVE CORE KIT (233-6101) 

Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com
25



Air Components & Manufacturing, Inc

Website : www.aircomponents.com  |  Email : Info@aircomponents.com

COMPONENTSCOMPONENTS

SPIRINGLOCK
GARTER SPRING

#6 (3/8")

SPRINGLOCK KIT (233-3170)

233-3161233-3156233-3151 233-3166

233-3150

SPIRINGLOCK GARTER SPRING #6 (3/8")
SPRINGLOCK GARTER SPRING #8 (1/2") CHRY/FORD
SPRINGLOCK GARTER SPRING #10 (5/8") CHRY/FORD
SPRINGLOCK GARTER SPRING #12 (3/4")
O-RING SPRINGLOCK #6 METRIC CHRY/FORD/HYU/MAZ/JAG ID 0.291 (7.38MM) OD 0.433 (11MM)
O-RING SPRINGLOCK #8 METRIC FORD ID 0.40 (10.12MM) OD 0.546 (13.87MM) 
O-RING SPRINGLOCK #10 (5/8")  ID 0.509 (12.93MM) OD 0.656 (16.68MM)
O-RING SPRINGLOCK #12 (3/4") JEEP/CHRYSLER ID 0.617 (15.67MM) OD 0.769 (19.53MM) 

5 PK
5 PK
5 PK
5 PK

10 PK
10 PK
10 PK
10 PK

233-3151
233-3156
233-3161
233-3166
233-3150
233-3155
233-3160
233-3165

Springlock & O-Ring Kit Chrysler/Ford 60 Pieces (233-3170)

SPRINGLOCK
GARTER SPRING

#8 (1/2") CHRY/FORD

SPRINGLOCK
GARTER SPRING

#10 (5/8") CHRY/FORD

SPRINGLOCK
GARTER SPRING

#12 (3/4")

O-RING SPRINGLOCK #6 METRIC
CHRY/FORD/HYU/MAZ/JAG

ID 0.291 (7.38MM)
OD 0.433 (11MM)

O-RING SPRINGLOCK #8 METRIC
FORD

ID 0.40 (10.12MM)
OD 0.546 (13.87MM) 

233-3155
O-RING SPRINGLOCK #10

(5/8")
ID 0.509 (12.93MM)
OD 0.656 (16.68MM)

233-3160
O-RING SPRINGLOCK #12 (3/4")

JEEP/CHRYSLER
ID 0.617 (15.67MM)
OD 0.769 (19.53MM)

233-3165

26



CATALOG #OR2022
Effective Date January , 2022

Authorized Distributor:

COMPONENTSCOMPONENTS


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29

